8/31/24, 10:22 PM

Question Paper Name :
Subject Name :
Creation Date :
Duration :

Total Marks :

Display Marks:

Group Number :
Group Id :

Group Maximum Duration :

Group Minimum Duration :
Show Attended Group? :
Edit Attended Group? :
Break time :

Group Marks :

Section Id :

Section Number :
Section type :
Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :

Section Marks :

Maximum Instruction Time :

Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Question Id : 34212312527 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group

g28.digialm.com/CAE/viewHtmIPDFAction.action

National Testing Agency

31 Linguistics 30th Aug 2024 Shift 1
31 Linguistics
2024-08-30 18:44:58

180
300
Yes

Linguistics and General Paper

1
34212377
0

180

No

No

0

300

General Paper
342123166
1
Online
Mandatory
42
42
100
0
1
342123492
No

Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (1 to 5)

Question Label : Comprehension

https://g28.digialm.com/CAE/viewHtmIPDFAction.action

1/190



8/31/24, 10:22 PM g28.digialm.com/CAE/viewHtmIPDFAction.action

The following table shows the percentage (%) distribution of viewers of JIO TV channel in five
different towns (A, B, C, D and E) alongwith the number of viewers who subscribed the channel
among them in the year 2023. Number of viewers in the town E is 1200. Based on the data in the

table, answer the questions that follow.

Town-wise Details of Channel Viewers
Town|Percentage Distribution of Channel Viewers [Number of Viewers who subscribed for the Channel
LA 2% 440
B 13% 500
C 28%% 280
D |23% 700
E 209%% 360

Note: For each town, number of channel viewers 1s the sum of number of viewers who subscribed
tor the channel and the number of viewers who did not subscribe for the channel.

Sub questions

Question Number : 1 Question Id : 34212312528 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

If the number of male unsubscribed viewers in Town-D is

200
3

% more than that of female

unsubscribed viewers, then what is the ratio of number of male unsubscribed viewers in Town-D
to the number of unsubscribed viewers in Town-A and Town-C together?

123333
2.25:54
3. 759
4.2:3

Options :

1.1

2.2

3.3

4.4

Question Number : 2 Question Id : 34212312529 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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If P is the total number of unsubscribed viewers in Town-B and Town-C together, and Q is the
number of subscribed viewers in Town-E, then Q is % less than P.

1.6

h

(]

. 80

3.60

4.70

Options :
1.1
2.2
3.3
4.4

Question Number : 3 Question Id : 34212312530 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

325
i

If out of the number of viewers from Town-C, == are female and E of the number of female

viewers are unsubscribed viewers. then the number of unsubscribed male viewers from Town-C
IS.

1. 340

-2

. 360

3. 380

4. 420

Options :
1.1
2.2
3.3
4.4

Question Number : 4 Question Id : 34212312531 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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What is the difference between the number of unsubscribed viewers and subscribed viewers,
taking all the towns together?

1.320

(]

. 240
3. 340

4. 300

Options :
1.1
2.2
3.3
4.4

Question Number : 5 Question Id : 34212312532 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

If P is the total number of unsubscribed viewers in Town- B and Town-C together. and Q is the
number of unsubscribed viewers in town-E, then Q is % of P.

1. 60

]

.70

3. 80

4.7

A

Options :
1.1
2.2
3.3
4.4

Question Id : 34212312527 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (1 to 5)
Question Label : Comprehension
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g aifereT | @8 fafi= 7RI (A, B, ¢, D3R E) H 2023 H 57211 (710) 71 91 971d & G2l &
UTIRId (%) TaaR0T 3R 39 d9d & UTgd aRid| & Y21 G2Ts s o | TR E H a=id! &f J
1200 g | dIfeid § Wed STel & YR WR, 31 U 7TV YUYl & IR SIIU:

T X! P (a0
TR GRd! @1 Ud=d (G0l [o-d & T8® GRd] &I S|
A [12% 130
B 5% 500
C |28% 880
D 5% 700
E 0% 360

feuufl: Ud® TR & forg, Icl o=l B e 39 I & D GRD! DI WA 3R I
GRId] &I GBI 1N g Sl 39 d-d & g ol g |

Sub questions

Question Number : 1 Question Id : 34212312528 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

If¢ TR D H T8 TY (D] BT I, S AED el €. 1 Al a=iep! bl IRATH 22,

4 ¢, S U8 -Tel 6. Al R D H UEH A gHaTd U G| & W &I TR A 3R TR
¢ H e ¢! & e 9 giHdTd GXd! Bl U1 U 3urd fhd-1 g2

L2553

2.25:54

3. 759

4.2:3
Options :
1.1
2.2
3.3
4.4

Question Number : 2 Question Id : 34212312529 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 5/190



8/31/24, 10:22 PM g28.digialm.com/CAE/viewHtmIPDFAction.action

gf¢ IR B 3R 'R ¢ DI {did 981 & Ud cRidh] &l o Y= P ¢ IR TR EH U8H
CUHI DI YBIQe, dPUQ % PHGI

1.6

L1

I

. 80
3.60

4.70
Options :
1.1
2.2
3.3
4.4

Question Number : 3 Question Id : 34212312530 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Erﬁ.*w-cﬁ?a?eﬁaﬂf—i@rﬁﬁﬁﬁ%n%?mi%ﬁ?ﬂ%ﬁ@hﬁﬁmﬁﬁ%é‘%ﬁ
qIed Aol o, dl TR - C Y UIgD 4 9 GRD| D TSA] ol '

1. 340

B

. 360

3. 380

4. 420

Options :
1.1
2.2
3.3
4.4

Question Number : 4 Question Id : 34212312531 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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gt TRl B THTER TIgd 1 94 aRid! 3R Iied aUD| & Wl & did BT 3R fhd-r g2

1.320

2

. 240
3. 340

4. 300

Options :
1.1
2.2
3.3
4.4

Question Number : 5 Question Id : 34212312532 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

g AR - B 3R TR - ¢ &l @ d#ﬁﬂ[ﬁd}qﬂlﬂcﬂﬁ qﬂm“fﬁg_m TP g 3R AN -
E U UEH A §-dTd adh] HI WA Q g, A P HIQ %G|

1. 60

I

.79
3. 80

4. 75
Options :
1.1
2.2
3.3
4.4
Sub-Section Number : 2
Sub-Section Id : 342123493
Question Shuffling Allowed : Yes

Question Number : 6 Question Id : 34212312533 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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The impaired memory for events occuring before the onset of amnesia is called as:-

1. Phonological loop
2. Retrograde amnesia
3. Anterograde amnesia

4. Visuospatial sketchpad

Options :
1.1
2.2
3.3
4.4

Question Number : 6 Question Id : 34212312533 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Wiy (THARADN & RY g4 U Yd "fcd g1 & fofu &t gdl ¥fd Hedidl 6 -
1. WS

2. Uy Wiy (TR

3. TGN Wiaag (AR
4. faSleaRme Wats

Options :
1.1
2.2
3.3
4.4

Question Number : 7 Question Id : 34212312534 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What of the following aspects does not pertain to delibrate practice of learners?

1. The task is too easy or too hard

t2

. The learner is given informative feed back about his/her performance
3. The learner has adequate chances to repeat the task

4. The learner has the opportunity to correct his/her errors
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Options :
1.1
2.2
3.3
4.4

Question Number : 7 Question Id : 34212312534 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fFafaRad @ ¥ SH-41 ugq el & giaaria snarg # 981 o g2
1. Ig B yaTd S 3Hydl 9gd Hid g |
2. TRt i 3P e & IR H adS Bisdd [Gg1 T g
3. Tremalf & U 1 Bl QIR & Wit SR gl
4. TR7emdt & urg ool Ffeal &l g8 HIH & HaE T

Options :
1.1
2.2
3.3
4.4

Question Number : 8 Question Id : 34212312535 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Match the List-T with List-IT
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LISTI LISTII
Online Softwares/Tools Application
A | Trello 1. | Managing and analvzing social media campaigns
; Managing and recording, fun built-in camera recording add effects and
B. |Hootsuite II. ;
share in the groups
GitHub : ] .
C. i II1. | Managing group projects and tasks
D. |Flipgrid IV. | Managing and writing coding assignments

Choose the correct answer from the options given below:

1. A-IV, B-111, C-II, D-1
2. A-III, B-1V, C-1II, D-1
3. Al B-1, C-IV, D-1I

4. A-1, B-11, C-III, D-1IV
Options :
1.1
2.2
3.3
4.4

Question Number : 8 Question Id : 34212312535 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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AT 1S 1Y &I 11 DT e Hifoy

I 1

(THATET iy / 231%
A |femt L | i i figH! & vdyd ud faRey &A1
R | e 51 SR RSl @1 e d RS aem ok 5
3! Bl Slle®m? 34 g H Il &l
fireed Taraed 11 |99 ufareHist| ud &l ol gag= @l
D. |Teufirs V. | BIfET FoaeEl &1 ey ud oa-
4T faU U fad el § 9 981 3R &l 994 Diflu:

1. A-IV, B-111, C-1I, D-1

I

3. A-III, B-1, C-1V, D-I1

4. A-I, B-II, C-IIL, D-1IV

Options :
1.1
2.2
3.3
4.4

.A-IIL B-1V, C-11, D-1

Question Number : 9 Question Id : 34212312536 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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Which of the following channels of Swayam Prabha are under IGNOU, New Delhi?

A. Channel 4
B. Channel 7
C. Channel 15
D. Channel 12
E. Channel 20

Choose the correct answer from the options given below:

1. A and E only

b2

.C and D only
3.B. C and E only

4. A.Band D only

Options :
1.1
2.2
3.3
4.4

Question Number : 9 Question Id : 34212312536 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fafdfRad 9 9 syl & 1Y d4d =3 [doedl fud 29 & sidiid g2
A. 00 4
B. d9d 7
C. 994 15
D. 994 12
E. d4d 20

1 feu U fas ettt # 9 F1 IR &1 99 DI
1. hdcd A 3R E
2.Hdd C 3R D
3.Hdd B, C 3RE
4. HId A, B 3R D

Options :
1.1
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2.2
3.3
4.4

Question Number : 10 Question Id : 34212312537 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following can be used as LMS to create and manage course content?

A. Moodle
B. Zoom

C. Edmodo
D. Canvas
E. Strawpoll

Choose the correct answer from the options given below:

1. B, D and E only

B

A, Cand D only

LFE]

.B, C and E only

4. A.Band D only

Options :
1.1
2.2
3.3
4.4

Question Number : 10 Question Id : 34212312537 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 13/190



8/31/24, 10:22 PM g28.digialm.com/CAE/viewHtmIPDFAction.action

fraferad @ ¥ fo-a1 urea=gl &f favgasd & Yo 3R Ut & foll Ud. T, 0q. & = 1
T fhdl &I Hehal g2

A Had
B. 9H
C. USHIS]
D. Hd1g
E. &UId

A fau U fasedl # 9 ¥8T 3R &1 994 Dol
1. Hdd B, D 3R E

2. HAA A, C 3R D
3. Hdd B, C 3ARE
4. %dd A, B 3R D

Options :
1.1
2.2
3.3
4.4

Question Number : 11 Question Id : 34212312538 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

According to UGC Regulations 2018 on Plagiarism, which of the following percentage of
similarity in the thesis would result in the cancellation of a student's registration in the
programme he/she is registered in?

1. 42%

4.61%
Options :
1.1
2.2
3.3
4.4

Question Number : 11 Question Id : 34212312538 Question Type : MCQ Option Shuffling : No
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Correct Marks : 2 Wrong Marks : 0

Yifed 9’ & Ydiy d fayfqeerd sFeM smanT (goiid) fafFad 2018 & YR 2y gdy o
fgfeRad ® U fod ufd=rd gHHEd Urs S W fdbdl B &1 Uoiihrul 39 UiUH 9 IE ¢
ST, S U 98 Usiied o2

1. 42%

-2
A
T
=}
a\

4.61%
Options :
1.1
2.2
3.3
4.4

Question Number : 12 Question Id : 34212312539 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following types of sampling is likely to have least bias?

1. Snowball sampling

f-2

. Simple random sampling
3. Convenience sampling

4. Purposive sampling

Options :
1.1
2.2
3.3
4.4

Question Number : 12 Question Id : 34212312539 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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fFafafad 7 9 &9 YR & Ufdegd # AdH gaiig g ST JH1aHT gidl ©:
- hgd Ufd=a (@idrd Uid=a)

YR gTefyd Ufd=d

- gfayrsH s ufdagd

4. QU ufdaa-

Options :
1.1
2.2
3.3
4.4

—

g

L8]

Question Number : 13 Question Id : 34212312540 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Identify the correct statements regarding survey research.

A. A closed ended question contains a set of answers that a respondent chooses

B. Self-Deception Positivity is a from of social desirability bias

C. Impression Management is a form of social desirability bias

D. In key informant sampling, a researcher uses a member of the population of interest to
actively recruit others

Choose the correct answer from the options given below:

l.A. Band C only
2.B. C and D only
3. A.Band D only

4. A. Cand D only

Options :
1.1
2.2
3.3
4.4

Question Number : 13 Question Id : 34212312540 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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YA&fuT YU & Gdy T Tl YAl Hl UgdH HIfe:

A. 3 TR a1 Uy | SRl &1 U< gidl g o SR a-aral g1 g |

B. 3TH-dd4 YHRIHAD I, YT dig-1adl Iaiig 1 FJ 3l

C. YHTd UseH, Yol qidg-1gdl Jaiig &1 &4 ¢

D. YA Y Yfcragd 1 Uh Ul Eid B S8 & U Yo ST ST Gl
DI Yl B & [T HIAT 8|

- fqu ¢ fgdett H# 4 FoT IR &l 99 DI
1. Had A, B AR C
2. $HIAB. C 3R D
3. $had A, B3R D
4. Had A, C 3R D

Options :
1.1
2.2
3.3
4.4

Question Number : 14 Question Id : 34212312541 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following statistical measures in increasing order

A 37ih percentile
B. first quartile
C. median

D. third decile

Choose the correct answer from the options given below:
1 B2, B
2.B.D.A.C
3B, C.AD

4.C,B, D, A

Options :
1.1
2.2
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3.3
4.4

Question Number : 14 Question Id : 34212312541 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frafeRad OiRers 1 AUl &1 d6d $H H ogaid Dif|

A. 37 91 IdHS
B. Ugdl Igdd
C. HIfED]

D. AR GRHS

A fGu U A edl § 9 T 3R &1 994 DifeiL:

1.A,B,C,D

2.B,D,A,C
3.B,C;A, D

4.C, B, D, A

Options :
1.1
2.2
3.3
4.4

Question Number : 15 Question Id : 34212312542 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Match List I with List IT
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List I List IT
(n=number of trials p=probability of success)|(Variance of Binomial Distribution)
A ln=7.p=03 L |144
B |n=3p=04 I |2.00
C. |[n=8p=03 Im. 11.20
D |n=6p=06 V. | 147

Choose the correct answer from the options given below:

1. A-1, B-II, C-IIL, D-IV

2. A-II B-III, C-IV, D-1

3. AL B-1V, C-I, D-1I

4. A-IV, B-1I1, C-1I1, D-1

Options :
1.1
2.2
3.3
4.4

Question Number : 15 Question Id : 34212312542 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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AT 1S 1Y &I 11 DT e Hifoy

.. . ik

o= T 3 Ry | (50 [0 BT TR

A |n=7p=03 I 144
B. |n=5p=04 II. 12.00
C. In=8.p=053 I | 1.20
D. |n=6.p=05 IV, [ 1.47

il [ -

A Teu TU [dd el | 9 gt 3R &1 994 HITU:

1. A-I, B-II, C-III, D-IV
2. A-11, B-1II, C-1V, D-1
3. A-IIT, B-IV, C-I, D-II

4. A-IV, B-III. C-II, D-I
Options :
1.1
2.2
3.3
4.4

Question Number : 16 Question Id : 34212312543 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In the post-information age, information is highly.

|. Homogeneous

t2

. Communitarian
3. Personalised

4. Impersonal

Options :
1.1
2.2
3.3
4.4

Question Number : 16 Question Id : 34212312543 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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TR - G g 1 YA A
R EIRIEN

HEEE §
4. 3dUfad® o

Options :
1.1
2.2
3.3
4.4

—

f-2

L8]

Question Number : 17 Question Id : 34212312544 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In an information society, even nuclear families have the characteristic of technological

1. Separation

t-2

. Mediation
3. Constriction

4. Passivity

Options :
1.1
2.2
3.3
4.4

Question Number : 17 Question Id : 34212312544 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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g%%am&ninﬁﬂwﬁmwﬁa@raﬁiﬁﬁaﬁfﬁaﬂmm GCAREELG!
|

1. G
2. AR

3. P
4. HHUTA

Options :
1.1
2.2
3.3
4.4

Question Number : 18 Question Id : 34212312545 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A hot medium has the features of:

A. Pre-supposition of interaction

B. Providing large amounts of information
C. Little effort needed for interpretation
D. Less scope for participation

E. Immediate feedback

Choose the correct answer from the options given below:

1. A B, Conly

[

. C, D, Eonly
3.A,C,Donly

4.B,C,Donly

Options :
1.1
2.2
3.3
4.4

Question Number : 18 Question Id : 34212312545 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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FrafaRad mrem o1 Fefafad ot gid 8

A. TRTR® T 1 qaigaH

B. 931 A1 H AT 3UCT DRG]

C. ARAT (AT B & [ BT T 64 DI ahdl gldl ©
D. YTl & folt o1 egw

E. dichIidd Uidgfe

i fu U fad el § 9 @81 IR &l 994 Diflu;
. HAAd A, B, C

2. Bdd C.D.E
3. HAAd A, C.D
4. BAd B. C.D

Options :
1.1
2.2
3.3
4.4

Question Number : 19 Question Id : 34212312546 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Identify the correct chronological sequence of the following communication devices:

A. Blu-ray Disc

B. Universal media Disc
C. Digital Compact Disc
D.Hi8

E. Digital Audio Tape

Choose the correct answer from the options given below:
L.ED C B A
2D:CRAE
3B AED

4.B,AE D, C

Options :
1.1

https://g28.digialm.com/CAE/viewHtmIPDFAction.action
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2.2
3.3
4.4

Question Number : 19 Question Id : 34212312546 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

YaR U 9 FafaRad Ul & dicdd & Yol hd &l g S|

A X 3w
B. gi-qyd Hifsar fewn

+id fGu T fasedl § 9 @@t 39 &1 994 Hifeu:
I.E.D,C.B. A
2.D,C,B,A,E
3.C,B.AE,D
4.B,AE,D,C
Options :
1.1
2.2

3.3
4.4

Question Number : 20 Question Id : 34212312547 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Match the List-T with List-IT

LISTI LISTII
(Medium) (Characteristic)
A |Radio I. | Asvnchronous
B. |Primt II. |High intensity of information
C. |Hot medium III. |Interactivity
D |Internet IV | Only Acoustic medium

Choose the correct answer from the options given below:

1. A-I, B-II, C-1II, D-IV
2. A-1I, B-III, C-1V, D-1
3. AL B-TV, C-1. D-IT

4. A-IV, B-1, C-II, D-IIT

Options :
1.1
2.2
3.3
4.4

Question Number : 20 Question Id : 34212312547 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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AT 1S 1Y &I 11 DT e Hifoy

I I
= | &
A | L |sgsoifts
B. |qzU II. | =T &l 3= Mol
C. | emhHE® g | 1L | IRERS haradd
D. |Fee V. |dae @f-ie arem

I feu 71U fash el § 9 T8t IR $I1 994 HIfIT:
I. A-I, B-II, C-IIL, D-IV
2. A-IL B-IIL, C-IV, D-I
3. AL B-IV, C-I, D-II

4. A-1V, B-1, C-1I, D-III

Options :
1.1
2.2
3.3
4.4

Question Number : 21 Question Id : 34212312548 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

If a fraction is multiplied by itself and then divided by the reciprocal of the same fraction, the
result obtained is 492 Find the fraction.

n
l.3—

Lad

ta

W | —

i | b

4.41
3
Options :
1.1

2.2

3.3
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4.4

Question Number : 21 Question Id : 34212312548 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

gfe fpd fird o1 34! 3 Y 707 {61 S 3R 34 916 390! 341 & Hohd Y fauord
ﬁmwa“rwwﬁwmm%@maamﬂmﬁml

A
1.3=

Options :
1.1
2.2
3.3
4.4

Question Number : 22 Question Id : 34212312549 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Find the number that can be inserted at the place of questions mark (?) in the series given below.
4, 10, 20, 34,52, 74,7

1. 98

I

102
3.97

4. 100

Options :
1.1
2.2
3.3
4.4

Question Number : 22 Question Id : 34212312549 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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a1 1S gaar § Uy g & RIF W SR 1 Si-dlel Y J1d i |

4, 10, 20, 34,52, 74,7

1. 98

2

102

3.97

4. 100
Options :
1.1
2.2
3.3
4.4

Question Number : 23 Question Id : 34212312550 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

Match the List-T with List-TT

LISTI LISTII
(Statement) (Result)
A | Average of the squares of first 10 natural numbers| 1. |13
B. | Average of first 5 multiplies of 5 II. |45
C. | Average of first 25 natural numbers III. | 38.5
D. | Average of cubes of first 3 natural numbers IV. |15

Choose the correct answer from the options given below:

1. A-I, B-II, C-III, D-IV
2. A-1l, B-1II, C-1V, D-1
3. A-1IV, B-1, C-II, D-III

4. A-III, B-IV, C-1, D-II

Options :
1.1
2.2
3.3
4.4

Question Number : 23 Question Id : 34212312550 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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AT 1S 1Y &I 11 DT e Hifoy

I I

o o,

YA 10 Widids Seeff dar o1 afiad| 1|13
5 @ TYH 5 0TS Bl 34d I |45
UYH 25 Wi RT3 BT Sed I |385
Ty 5 Uihfdd deafl & u @1 gd | IV |15

AT U U fadhedl § U It 3R &1 994 DIoIU:

1. A-I, B-II, C-III, D-IV

olo|w|x

2. A-II, B-IIL, C-IV, D-1
3. A-IV, B-1, C-II, D-III

4. A-III, B-1V, C-1, D-II

Options :
1.1
2.2
3.3
4.4

Question Number : 24 Question Id : 34212312551 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In a certain code language:

*“Kashmiri Cuisines are good” is coded as: * KI CI FI GI”

*“You like Kashmiri Cuisines™ is coded as: “AI LI KI CI”

“Indians like Punjabi Cuisines™ is coded as: "MI LI BI CI"

“Punjabi Cuisines are best™ is coded as: "BI CI FI TI"

How the words *you’, ‘Indians’ and' best' are coded in this language.

1. LI, KI and Al

f2

.KI, MI and CI

3.AI MIand TI

4. AL, MI and CI

Options :
1.1
2.2
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3.3
4.4

Question Number : 24 Question Id : 34212312551 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fhd e YW T:-

“Kashmiri cuisines are good” @I KI CIFI GI b ¥ H CTEFATRIREIR]) S
“you like Kashmiri Cuisines” @I AI LIKI CI® U H dddg ERIEIGIE
“Indians like Punjabi Cuisines” MILI BI CIh U I podg bl EIGI
“Punjabi Cuisines are best™ BI CI FI TI &Y Pldeg ERIEIGIE

o4 HTyT H ‘you', ‘Indians’ AR “best” Dl Y UHR Pldg ICRRIE| %i’
A1d U TIQ fddpedl H ¥ #5T SR B 79 DIfSIE:

1. LL KI 3R Al

2. KL MI 3R cI
3. AL MI 3R TI

4. AL MI 3R CI

Options :
1.1
2.2
3.3
4.4

Question Number : 25 Question Id : 34212312552 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

There are some Cows and Ducks in a park. The total number of heads of Cows and Ducks
together is 60. However, the total number legs of the cows and ducks together is 180. Find the

number of cows and ducks in the park, respectively.

1. 30, 30

2

32,28

3.28 32

4. 24, 36
Options :
1.1
2.2
3.3
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4.4

Question Number : 25 Question Id : 34212312552 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Uh Uid H $& Y 3R S §. 71 3R §wal & (R &1 ol feidh: W& 60 g1 qyid,
T 3R dodl D1 Dol THThR T 1 AT 180 1 UTdh H 71T 3R Seival &bl TeT hus:
J1d DIfTU|

L.

[

4.

30,

Options :

1.1
2.2
3.3
4.4

Question Number : 26 Question Id : 34212312553 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

30

g28.digialm.com/CAE/viewHtmIPDFAction.action

*This piece of Chalk has mass, therefore, the atoms that compose this piece of chalk have mass.”
Which of the following options is true of the above argument?

1. Fallacy of composition 1s committed here

2. Slippery slope is nvolved here

3. Hasty Generalization is committed here

4. It 1s a non-fallacious argument

Options :

1.1
2.2
3.3
4.4

Question Number : 26 Question Id : 34212312553 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action

31/190



8/31/24, 10:22 PM g28.digialm.com/CAE/viewHtmIPDFAction.action

i (AN & TH hs U ST g, ST dlh & 39 Sho BT AT 6 dle] TRHTILS]
o ot goqa gidl & Suddd gfdd & Y&y ¥ Fafafad @ 9 s fde e g g2

1. I8l Uefd Siv fhar TR 5|
2. gel Thyed gad ¢a Hdfigd g1
3. gg G=Rd IrAISHI 6l T g |

4. 98 U TR - Ay gfad ¢

Options :
1.1
2.2
3.3
4.4

Question Number : 27 Question Id : 34212312554 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following statements are true?

A. A valid argument may have false premises and a true conclusion
B. An invalid argument may have false premises and a true conclusion
C. An invalid argument may have true premises and a false conclusion
D. A valid argument may have true premises and a false conclusion

Choose the correct answer from the options given below:

1.AB,C.D

t-2

. B and C only
3. Aand D only

4. A. B and C only
Options :
1.1
2.2
3.3
4.4

Question Number : 27 Question Id : 34212312554 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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fAafRad 7 ¥ ®H-0 &Y Td o2

A. T 94 g § i 3R 3R U U by gl Thal g
B. U 3{d% gfqd O e R r 3R Uh 9 5y gl Ghdi gl
C. U 33 gfad T I ATUTRGR 37R Ueh {71247 F5h gl Yhdl ¢ |
D. Ut 94 Gfdd ¥ Y YR 3R U {7721 F5H gl Ihdl gl

A fGu U A edl § O 8T 3R &1 904 DifoiL:

1.A,B,C,D

) FHIAB AR C
3. HddA AR D
4. Hadd A, B3R C

Options :
1.1
2.2
3.3
4.4

Question Number : 28 Question Id : 34212312555 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following in order of decreasing denotation.

A. Physics

B. Natural Sciences
C. Sciences

D. Nuclear Physics

Choose the correct answer from the options given below:
1.C.B,A D
2.B.C,A.D
3.D.AB.C

4.B.C.D A
Options :
1.1
2.2
3.3
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4.4

Question Number : 28 Question Id : 34212312555 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fAeIRad & ged 9dd & HH H FaRRUd DIfI:
A, HIfd® IR
B. UTdidd faaH
c. fagm
D. AIHS I HITdH AR
< fSu U fadeul § 4 @87 IR BT 90 DIOIT:

1. C.BA D

[

B.C.AD

3:PD.AB;C

4.B.C.D. A

Options :
1.1
2.2
3.3
4.4

Question Number : 29 Question Id : 34212312556 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Match the List-T with List-IT

LISTI LISTII
{Type of informal Fallacy) (Reason)
A |False cause 1. |Relevance
B. | Appeal to Emotion II. | Ambiguity
C. | Complex Question III. | Defective Induction
D. |Fallacy of Composition | IV, |Presumption

Choose the correct answer from the options given below:
1. A-IV. B-II, C-1I1, D-I
2. A-IIL B-1, C-IV, D-1I
3. A-IIL, B-IV, C-1, D-II

4. A-II, B-1, C-IV, D-III

Options :
1.1
2.2
3.3
4.4

Question Number : 29 Question Id : 34212312556 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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AT 1S 1Y &I 11 DT e Hifoy

(&Hﬁﬂﬁﬁ:ﬁ;ﬁaﬂm (ﬂ%
A |fa eRo 1 |l
B. | 914G 3FI8 . | 3Rgpdl
c. |sfeamy 1L | GIeqUi 3
D. |Wefd g IV. | qaigaH

I feu 71U fash el § 9 T8t IR $I1 994 HIfIT:
1. A-IV, B-IL, C-III, D-I
2. AL B-1, C-IV, D-II
3. AL B-IV, C-I, D-II

4. A-I1, B-1, C-1IV, D-IIT

Options :
1.1
2.2
3.3
4.4

Question Number : 30 Question Id : 34212312557 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

According to Nyaya logic which of the following statements is fallacious because the middle
term instead of proving the existence of the major term in the minor term., it proves its non-
existence therein.

1. Sound is eternal because it is produced

]

. The hill has fire because it 15 knowable
3. Sound 1s eternal because it 1s audible

4. All things are non-eternal because thev are knowable

Options :
1.1
2.2
3.3
4.4
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Question Number : 30 Question Id : 34212312557 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A A & YR FEfaRad § ¥ fdd Sy o dhaly ¢ difd T Ug, 1o Ue § gre ug &
3 Dl lfdd DI & Iol1d, T8 IUH 34D AT ci-dl I Tlied Hdl g

L. €17 21y ¢ 1 g Idiiad &l Sl B
2. UgTSI H 3N § i 98 34 B

3. & A1 g D T8 4 ¢

4. 9t - FEIE TR-=NYd € Fifh d I ¢

Options :
1.1
2.2
3.3
4.4

Question Number : 31 Question Id : 34212312558 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A keylogger. short for keystroke logger, is a type of that monitors and records what
you type on your computer or mobile phone.

1. Worm

2

. Spyware
3. Virus

4. Trojan Horse

Options :
1.1
2.2
3.3
4.4

Question Number : 31 Question Id : 34212312558 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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@I - ¥l AR & {elU Tigd Usq, Dl - AR Th UDHR DI © Sl 3MUd gRT 30
$HUIeR YT HIEd Bl TR 2130 &I ol Te! il &1 TR Hd1 ¢ 9 39 Rdbre gl

L. drH

2. TR
3. digxd
4. TIoH gIY

Options :
1.1
2.2
3.3
4.4

Question Number : 32 Question Id : 34212312559 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following pair of acronym and its expansion is incorrectly matched?

1. XML- Extensible Markup Language

t-2

. WWW- World Wide Web
3. VLSI- Very Large Scale Integration

4. SMS- Short Message Software

Options :
1.1
2.2
3.3
4.4

Question Number : 32 Question Id : 34212312559 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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uRquif 9 34 fa¥dR &1 % # @ D181 g gAferd 181 €2
. U A U - TeRie st AT 31 cfiast

3% S S - dcs dI2s dd

1 T T 37 - 48 arSl Whel SCUTH

4. 7Y TH UY - 1C A HIEdTR

Options :
1.1
2.2
3.3
4.4

—

g

L8]

Question Number : 33 Question Id : 34212312560 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Identify the sequence of ICT terms A-D that correctly fills the blanks in the following paragraph:
is permanent memory that is used to store instructions that are needed to start the

computer. is fast temporary memory that is used to store data and applications that are

currently in use. carries out processing and turns data into information. The

1s used to plug all other components into the computer system.

A. Motherboard
B. RAM
C.CPU
D. ROM

Choose the correct answer from the options given below:
1D B A C
2.AD,C.B
3.C,A.B.D

4.D,B,C,A

Options :
1.1
2.2
3.3
4.4

Question Number : 33 Question Id : 34212312560 Question Type : MCQ Option Shuffling : No
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Correct Marks : 2 Wrong Marks : 0

313 4l &1 Uel A-D & 39 HH & UgdH ST Sl (9 T2 & Rad R 1 Ugl YR 4R
_ 2t gidl g ot yanT 9 el & W%WWW%W
DU Bl HRY T & [0 HEAWHATgdigl 3T Wi il g ford
3 STeT d TN BT u—erﬁrmﬁ?mam%‘ﬁﬂﬁaﬁﬂﬁﬁ CRIEIREEEE
JhH0 63l ¢ AR S1el DI Y1 § dad adl B &1 UG 30 gt
HCHI Bl HWR YoITell § Siis & foe fbar S g

A. HERdlS

B. 3R TUH
c. g g

D. 3R 3 TH
A fqu U fameul § 9 98T 3R 1 994 DI

1.D.B.A,C

2.A.D,C,B
3.C,A,B,D

4.D.B.C.A
Options :
1.1
2.2
3.3
4.4

Question Number : 34 Question Id : 34212312561 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Which of the following software titles are examples of operating system?

A. MS-Word

B. Linux

C. MS-PowerPoint
D. Adobe Photoshop
E. Android

Choose the correct answer from the options given below:

I.A. Cand D only
2.A.B.CandD only
3.B and E only

4. B, D and E only

Options :
1.1
2.2
3.3
4.4

Question Number : 34 Question Id : 34212312561 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

79 U ¥ 1Y 9ieda? i UdIa- YUl & 3alg 0l g2

A UATYdS
B. felHag

C. UH Y UTdR W@ige
D. US4 Hhiel2y

E. U39S
Hid fqu U fddetl #§ 9 Fg1 IR DI 949 iU
1.hdd A, C 3R D
2. Hdd A, B, C 3R D
3. Hdd B AR E
4. $dd B, D3R E

Options :
1.1
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2.2
3.3
4.4

Question Number : 35 Question Id : 34212312562 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match the List-T with List-IT

LISTI
LISTII
E omipnter {(Description)
Network) P
A | Flat Network I. |Describes today's worldwide connection of networks
Describes a network that lies completely inside a trusted area of a network
B. |Extranet I . : ) i =i
and 1s under the security control of system and network administrators
o | i m Describes a network that avoids packet-looping issues, through an architecture
that does not have layers
. |Describes a network that is an extension of a selected portion of a company's
D |Internet vV N
Intranet to external partners

Choose the correct answer from the options given below:
1. A-IV. B-III. C-1, D-II
2. A-IIT, B-TIV, C-I1, D-I
3. AL B-1, C-IIT, D-IV

4. A-IIT, B-IV, C-1, D-II

Options :
1.1
2.2
3.3
4.4

Question Number : 35 Question Id : 34212312562 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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AT 1S 1Y &I 11 DT e Hifoy

a1 gt o
(PUEX AeTH) (ferarom)
A |Uce dcad I |3 & fayerdt Sead & Saie &1 gui- ddl 8l

- U Acgd &1 9= BT & ol Quidar Aead & fausd 87 & iz 3R gomeh
& [dige U g Yead weres! & e Raa g erar 21

c |e=re - ﬂﬁﬁeaai?%alﬂﬁ Bl § Sl URde - HeeT & Aread ¥ Udhe-qfth1 qel 1

= | @ UY Jeqd &1 9Uf- BT § &l P & 52 & Tafd 32 $1 9l
JEESE | yrfieRi &1 Suaw gld 8|

A f6u U A edl § U Jot IR 1 I994 HIIU;

1. A-IV, B-1II, C-I, D-II

B

. A-IIL, B-IV, C-II, D-1
3. A-IL, B-L, C-IIL, D-IV

4. A-III, B-1V, C-I, D-II

Options :
1.1
2.2
3.3
4.4

Question Number : 36 Question Id : 34212312563 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which one of the following is known as the heart of sewage treatment?

l. Primary treatment

t-2

. Secondary treatment
3. Tertiary treatment

4. Advanced treatment
Options :
1.1
2.2
3.3
4.4
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Question Number : 36 Question Id : 34212312563 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fafaRad o O {64 U &1 STaad e (a9 dietie) & g6d & U 4 \HI Sidl g2
. UTY Qe

2. fgdias® eH
3. Al e

4. 39d eE

Options :
1.1
2.2
3.3
4.4

Question Number : 37 Question Id : 34212312564 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following are true about class I and class II ozone depleting substances?

A. Ozone depleting potential of class-I substances are far more than class II
B. Ozone depleting potential of class II substances are far more than class I
C. All chlorofluoro carbons belong to class IT ozone depleting substances
D. HCFC-21 belongs to class IT ozone depleting substance

E. Class-I contains fully halogenated gases

Choose the correct answer from the options given below:

1. A. D and E only
2.B, C and E only
3.A.Cand D only

4. C,D and E only

Options :
1.1
2.2
3.3
4.4

Question Number : 37 Question Id : 34212312564 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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7% 7 U & 971 Ud 11 3TN &fividh Jedl & aR H 9 82

A. T-1 Tcdl BT IS &ivres U1 d7-11 B Joi-1 § 9gd 31fe® o
B. T7-11 dcdl D1 SIS &0 YA 97i-1 b1 gof-T1 § dgd 319 3
c. G FARIGRI HIe a¥-11 3l i dd 9 Yalferd gid g1

D. U 9 UG Tl - 21 T9.11 357 v ded U Yafed g

E. 9.1 5 quid: gaiioHcs T gIdi |

i feu T fahedl § 9 a1 IR B 99 DIIT;
|.$ddA.DUFE

2. HAdB.CTUdE
3. FHdAA.CUE D
4. HAAC. DU E

Options :
1.1
2.2
3.3
4.4

Question Number : 38 Question Id : 34212312565 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What is the correct sequence of following drinking water treatment processes from initial to
final?

A. Filtration

B. Disinfection

C. Gravity settlement of large particles
D. Flocculation

Choose the correct answer from the options given below:
1.ABCD
2.8 B, B.C
3.C.D.A.B

4.C,D,B,A

Options :
1.1
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2.2
3.3
4.4

Question Number : 38 Question Id : 34212312565 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

FafaRad b4 & arl &1 UR™ ¥ 3id d& ffHfchar Ufthal &1 Yg! H 91 g

A. e (hedeH)

B. ﬁ?ﬂﬂﬁfifﬁ{%ﬂmﬂ]

C.d9 Il DI R=od AU

D. 3UH (TFAIRIIRH)
HId feu U f9hedl § 9 8T IR &1 994 DI

1. A, B, C.D

2.8, BB
32C.D.AB

4.C,D.B, A

Options :
1.1
2.2
3.3
4.4

Question Number : 39 Question Id : 34212312566 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Doha amendment 1s an amendment to.

1. Montreal Protocol
2. Kyoto Protocol
3. Stockholm Convention

4. Rio Summit
Options :
1.1
2.2
3.3
4.4
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Question Number : 39 Question Id : 34212312566 Question Type : MCQ Option Shuffling : No
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Correct Marks : 2 Wrong Marks : 0
<IgT YRMEH, SHHT U Y2 ©:
1. Aiiegd Uieidid
2. 1T Uieldid
3. Widhgied grleH
4. T R v e

Options :
1.1
2.2
3.3
4.4

Question Number : 40 Question Id : 34212312567 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

Match the List-T with List-IT

LISTI LISTII
{Sustainable Development Goal (SDG) (SDG No)
A | Clinate action I |sDG 12
B. |Life on Land II. |SDG 13
C. |Fesponsible consumption and production | III. | 5DG 14
D. |Life below water IV. | SDG 15

Choose the correct answer from the options given below:

1. A-1, B-III, C-II, D-IV

2. A-III, B-1, C-1V, D-II

3. AL B-1IV, C-III, D-1

4. A-1I, B-IV, C-1, D-IIT

Options :
1.1
2.2
3.3
4.4
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Question Number : 40 Question Id : 34212312567 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

AT 1S 1Y &I 11 DT e BHifoy

I I
(Umﬁuﬁm?ir&m@ﬁhﬁ) mﬂé@m
A |Saarg febar I |THshl 12
B. (YA R EET 11 (Thaisl 13
C. | 3Rard SUHRT Ud 316 | 111 |UgSiell 14
D. | 5@ & i Sflaq IV, |TEEt 15

i feu 71U fad el § 9 T8t STk &1 994 DIfIT:
1. A-I, B-IIL, C-II, D-IV
2. AL B-1, C-IV, D-II
3. A-IL B-IV, C-IIL, D-I

4. A-II, B-1V, C-1, D-III

Options :
1.1
2.2
3.3
4.4

Question Number : 41 Question Id : 34212312568 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The New Education Policy, 2020 envisages making all learners:

1. Social volunteers

t2

. Efficient administrators
3. True global citizens

4. Spiritual persons

Options :
1.1
2.2
3.3
4.4
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Question Number : 41 Question Id : 34212312568 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

s e =ifd, 2020 ¥ Wt fRreniegl of Hgfearad 94 & URb - 1 7S ¢
1. GHEISS WaUad (dTeifedr)

2. B UMD
3. AR(dD di%d ARG
4. SeTfdS Afad

Options :
1.1
2.2
3.3
4.4

Question Number : 42 Question Id : 34212312569 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The Kanya Mahavidyalava. an Arva Samaji School, was established in 1896 by:

1. Bhai Veer Singh

t-2

. Agva Kaur
3. Bhai Takht Singh

4. Lala Devraj

Options :
1.1
2.2
3.3
4.4

Question Number : 42 Question Id : 34212312569 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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ST el deTerd AHS AT Whdl & =TG- Y 1896 H HHTRId SAfdd gRI 61 T8 4i:
HIS dR g

SR DR

LTS e g

4, STl GaRTSl

Options :
1.1
2.2
3.3
4.4

—

f-2

L8]

Question Number : 43 Question Id : 34212312570 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The major recommendations of the Radhakrishnan Commission are:

A. Transfer of urban universities to rural areas

B. Setting up of rural universities

C. Development of research in agriculture, commerce, law, science and technology
D. Making English language as the medium of instruction at all levels of teaching
E. Focus on student's Welfare

Choose the correct answer from the options given below:

1. A, Bonly
2.B,C,Donly
3.C.D.E only

4.B, C, E only

Options :
1.1
2.2
3.3
4.4

Question Number : 43 Question Id : 34212312570 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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RIS SR Bl T SR &

A. 91831 fayfaemerl &1 urHior &t H IR

B. UTHIUT gy faereral &1 9|

C. Pfty, aIfrsy, i, fag SR Ureiffe! & SryH &1 [ |
D. &1 & gyt TRl U 3iUSH HI9T &1 e &1 H1eaH 491
E. B & &l R &H digd S|

- feu U faded! ¥ FpT IR B 90 HIST:
1. ®dd A, B
2. $HddB. C.D
3.$HddC. D, E
4. HIAB. C. E

Options :
1.1
2.2
3.3
4.4

Question Number : 44 Question Id : 34212312571 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following Ancient Texts in chronological order.

A. Rig Veda

B. Lilavati

C. Aryabhativa
D. Arthasastra

Choose the correct answer from the options given below:

1. A,C,D,B

f2

A DC. B
3.B.C,;D, A

4.A,B,D,C

Options :
1.1
2.2
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3.3
4.4

Question Number : 44 Question Id : 34212312571 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frafead U= 94 &1 SIddhd & 3R Haid il
A PG
B. dicirddl
C. MUY
D. YRR

A fGu U A edl § 9 T 3R &1 994 DifeiL:

1. A,C,D,B

I

A DC. B
3.B,C,D, A

4.A,B,D,C

Options :
1.1
2.2
3.3
4.4

Question Number : 45 Question Id : 34212312572 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Match the List-T with List-IT

LISTI LISTII
Authors Works
A |Pingal [. |Lilavati
B. |Panini II. |Chhandasastra
C. | Arvabhatta I11. | Astadhyayi
D. |Bhaskaracharya | IV. | Aryabhativa

Choose the correct answer from the options given below:
1. A-II. B-1V, C-II1, D-I
2. A-IIL, B-IL C-IV, D-1
3. AL B-IIL, C-IV, D-I

4. A-1, B-III, C-IV, D-II

Options :
1.1
2.2
3.3
4.4

Question Number : 45 Question Id : 34212312572 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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AT 1S 1Y &I 11 DT e Hifoy

1 g
T 1. |<iicmadt
qifort 1. |@card

YT 1L | 3{ETeaTd!
yreREE | IV | emEE

A fou U fasedl # U Igt 3R &1 994 DIfoIU:

1. A-II, B-1IV, C-1I1, D-1

olo|w|r

2. A-III, B-1I, C-IV, D-I
3. A-II B-III, C-IV, D-1

4. A-1, B-III, C-1IV, D-II

Options :

1.1

2.2

3.3

4.4
Sub-Section Number : 3
Sub-Section Id : 342123494
Question Shuffling Allowed : No

Question Id : 34212312573 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group

Comprehension Questions : No Question Pattern Type : NonMatrix
Question Numbers : (46 to 50)
Question Label : Comprehension

Read the passage carefully and answer the questions that follows:

A famine in China from 1958 to 1960 estimated to have killed about twenty-five million people.
The reason why that’s called a political crime-an ideological crime-which was discussed in most
detail by Amartya Sen: it’s part of the work for which he won the Nobel Prize. Sen is an
economist who treated this as an ideological crime for food reasons. He said it wasn’t a matter of
intent: they didn’t intend to kill anybody. It’s just that the ideological instructions were such that
it happened. It was a totalitarian state where no information about what was happening ever got
back to the center. They couldn’t take any action because that’s what happens in a totalitarian
state. So it was a reflection of the totalitarian instructions, a huge massacre that wasn’t intended.
They didn’t intend to kill twenty-five million people, but it was still a major massacre, and it’s
correct to call it one of the major atrocities of the twentieth century, and the worst single

component of the crimes of Communism.

Sub questions
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Question Number : 46 Question Id : 34212312574 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What period did the famine in China, described in the passage, occur?

1. 1945 to 1948

I

. 1958 to 1960
3. 1965 to 1968

4. 1972 to 1975
Options :
1.1
2.2
3.3
4.4

Question Number : 47 Question Id : 34212312575 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

According to the passage, how many people are estimated to have died in the famine in China?

1. 15 mullion

[

. 25 million
3. 35 million

4. 45 million
Options :
1.1
2.2
3.3
4.4

Question Number : 48 Question Id : 34212312576 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

who discussed the famine in detail and considered it an ideological crime?
1. Karl Marx
2. Amartya Sen
3. Noam Chomsky

4. T. S Eliot
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Options :
1.1
2.2
3.3
4.4

Question Number : 49 Question Id : 34212312577 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

According to the passage. what was the main reason for which the famine occurred in the
totalitarian state?

1. Intentional government polices

I

. Unpredictable natural disasters
3. Foreign interventions

4. Lack of information reaching the central authorities

Options :
1.1
2.2
3.3
4.4

Question Number : 50 Question Id : 34212312578 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

How does the passage classify the famine in terms of twentieth-century atrocities?

1. A deliberate genocide

f-2

. A minor event
3. an unavoidable disaster

4. One of the major atrocities

Options :
1.1
2.2
3.3
4.4

Question Id : 34212312573 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (46 to 50)
Question Label : Comprehension
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frrafifEa e &1 wryde e ok 39% ae i3 U uat & 3w difvte:

ay 1958 T 1960 A 914 H TS giel T T 25 Taferad €l & IR S &1 34 fdar a1
¢ 1 34 HRUI Y TH AeHlidd URY — Uh ddiRd WY el T ¢, D! 3Fd 4 5
gafftre fawgd o=l 31, T8 301 39 Bid &I YT 8, Forgd o1y Il Fidd IR siar| I
T YRl ¢, TS5 J9fad BRI Y 38 Udh ddIid 3Ry & =9 H AF1| 35iH $el fh
g 1gd & Al g1 4T: d fhdl &l ARAT 981 digd 41 g hdd a1 ¢ fb dd1iey J=1u
24 g ®l Al fb Tg gl /1| =i U GdgAIdD Iy U1, gl il 9fed gl Xl Ul, 3Hd! Yol
<18 Gl db g1 Ugd el 411 d IS BRAls gl B b Hifdh U Gdqdicdds IAd H U]
gIdl o1 29I, I8 Jaudids Y13l &l ufdfd g, g U d3] Y8R U, forgd Ui
SRIGT 8T AT 3ADT 330aT 25 Al arff &1 IR S1a- &1 el o1, iR +f 78 U uga 2y
RYUGR U1, 3R Y &Yl Adlsd] & YIT HAERI H U U, 3R YAl & W1 &1 Uh
dGR UZh Dol Ugl ol

Sub questions

Question Number : 46 Question Id : 34212312574 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Sugdd T aftid <19 gftfer g safy o afed gamym
1. 1945 T 1948

1958 F 1960

[

3. 1965 U 1968

4.1972 ¥ 1975

Options :
1.1
2.2
3.3
4.4

Question Number : 47 Question Id : 34212312575 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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YU M & SFER = T US gftiar ¥ fda dlvl & AR S &1 301 fhar T ge
1. 15 fAferma

-2
-2
A

4. 45 Taferoq

Options :
1.1
2.2
3.3
4.4

Question Number : 48 Question Id : 34212312576 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fope dH § US gitiel B faxgd ol 3t 3R 34 U ddRed 3URTe HHED
1. Tl Ty
2. 3
3. [T R

4,91 9. gfeme

Options :
1.1
2.2
3.3
4.4

Question Number : 49 Question Id : 34212312577 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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SUYdd T & IR Y 8 SR Y Ydaqdidid ol H gie IsT U
G WRBR Hifqgt

. 3YATFHT UIp T SMue
fac=l gwem
4. D=1 MBIl T YaT Uga- BT 2fH1d

Options :
1.1
2.2
3.3
4.4

—

f-2

L8]

Question Number : 50 Question Id : 34212312578 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

SUad el A4 Tl & AHAER! & Y H gfifel & aiffpd dHed g2
. S-S a1 T/ U RUGR
2. U HH Hel
3. U® 3uivgr fauar
4. U9 AR 4 Y U

Options :

1.1

2.2

3.3

4.4

Linguistics

Section Id : 342123167
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 92
Number of Questions to be attempted : 92
Section Marks : 200
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 342123495
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Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 34212312579 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The relationship between speech sounds and the meaning they present for the most part is:

1. Arbitrary

t2

. Conditional

L

. Dependent

4. Inherent
Options :
1.1
2.2
3.3
4.4

Question Number : 51 Question Id : 34212312579 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

HIUHTI UFT & folU dip-¥a 3R 342, foig d [=TUd dvd 8, & ofld &1 ddy g
1. grefdd

. graTfes

3. 3M%d

4. 3=dHfgd

Options :
1.1
2.2
3.3
4.4

-2

Question Number : 52 Question Id : 34212312580 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Sometimes the loss of a segment is accompanied by the lengthening of a nearby syllable segment.
This process has been called:

1. Cluster simplification
2. Loss with compensatory lengthening
3. Clitic reduction

4. Final neutralization

Options :
1.1
2.2
3.3
4.4

Question Number : 52 Question Id : 34212312580 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

HH-HH el S1eR WS & AU & G191y [Hdl Mdh ey 3eiRe WS &l gl gidl o | I8

1. T8 YReAThRU]

2. dIY & Y Uld®Xe dfg
3. gad HHl
4. 3 deRIHR

Options :
1.1
2.2
3.3
4.4

Question Number : 53 Question Id : 34212312581 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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The capacity to talk (or sign) messages that are unrelated to here and now is known as-

1. Critical period

t2

. Displacement

L

. Duality of patterns

4. Linguistic competence

Options :
1.1
2.2
3.3
4.4

Question Number : 53 Question Id : 34212312581 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

31 G Bl dle (3dl Havd B), Sl g 3TR 381 Iad 3R T, Bl &l Headl o-
L. Shifde 3af
2. fa=imgA
3. IR Gl
4. HTOTdT &

Options :
1.1
2.2
3.3
4.4

Question Number : 54 Question Id : 34212312582 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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A special type of dissimilatory loss consists in the loss of a whole syllable before or after a
phonetically similar or identical svllable. This process is referred to as:

1. Haplology
2. Dissimilation

3. Metathesis

4. Glide epenthesis

Options :
1.1
2.2
3.3
4.4

Question Number : 54 Question Id : 34212312582 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Uch Wi 0 Y YU I 96 &R ¥ Ugd I d1g 4 U of 38R & dlg & U faviy
TR b1 [AuHBRI oI gidT g | U8 Uishdl hgdldl o:

|. gHIER @Y
2. faga®BRT
3. f[qudyg

4. gfd AT

Options :
1.1
2.2
3.3
4.4

Question Number : 55 Question Id : 34212312583 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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The hypothesis that says “the language we speak determines how we perceive and think about the
world™ is known as-

l. Linguistic relativism
2. Linguistic perception
3. Linguistic determinism

4. Linguistic competence
Options :
1.1
2.2
3.3
4.4

Question Number : 55 Question Id : 34212312583 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

I8 UR® U fh Sl YINT gH didd g, g 48 MYRd &l ¢ [P 2sg & IR H gH [F9 UdR

1. WIS Grgefare
- HTSTH! T &for
3. HINT (Had@arg
4. HINTET &HT

Options :
1.1
2.2
3.3
4.4

[

Question Number : 56 Question Id : 34212312584 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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It consists in the development of a morphological ‘compromise” between two forms with
identical or similar meaning which are perceived as being in competition with each other. It is
known as:

1. Four-part analogy
2. Blending
3. Syncretism

4. Portnanteau formation
Options :
1.1
2.2
3.3
4.4

Question Number : 56 Question Id : 34212312584 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

g deey 41 9HF 3 9l & 41 & did U YeaeUldHD A & [dh™ | M gidl
¢ oI Uh-qWR &1 Ul el A1 SIIa1 § 1 59 Y 0 H SHT 91 ¢

1. TR-HIT =0l
2. Ty

3. qHwlq

4. UicHE] fHfor
Options :
1.1
2.2
3.3
4.4

Question Number : 57 Question Id : 34212312585 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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It refers to the ability to speak two (or more) languages, either by an individual speaker, or within
a soclety. it 1s known as-

1. Bilingualism

(]

. Code switching
3. Creolization

4. Borrowing

Options :
1.1
2.2
3.3
4.4

Question Number : 57 Question Id : 34212312585 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fehil Ush Afdd 3yal bl GHIS gR1 Gl (A1 394 3Hied) UI3{l &l i B &Hd dgdld]
°-

1. fgHi®EHdr
2. HIS URdadd
R C RN

4. ATGH
Options :

1.1

2.2

3.3

4.4

Question Number : 58 Question Id : 34212312586 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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The process that involves the adoption of individual words or even of large sets of vocabulary
items from another language or dialect is linguistically known as:

1. Mutual intelligibility
2. Lexical borrrowing
3. Dialect borrowing

4. Phonological nativization

Options :
1.1
2.2
3.3
4.4

Question Number : 58 Question Id : 34212312586 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ag Ufdhar s 3(=1 Ui 41 dicll & SfeliT-3{c Qea! U1 Wsaldel! Hal & U 99 ¥gg ol Ui
AT MHS B, 11T fa9H | Seam ¢:

| YRR STl

[

. RMecdTd Hlgld

I IGIUGE G

Question Number : 59 Question Id : 34212312587 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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In Phonology, the most prominent tone in a tone unit may be referred to as:

1

t2

. Linear tone

. Nuclear tone

. Non-linear tone

4. Intonation

Options :

1.1
2.2
3.3
4.4

Question Number : 59 Question Id : 34212312587 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

g28.digialm.com/CAE/viewHtmIPDFAction.action

WA E oyl IH g@1e § gdifts UgE dH dedldl ¢:

[~

fad dH
e CAGIE|
RSP dH

4. 3ddId

Options :

1.1
2.2
3.3
4.4

Question Number : 60 Question Id : 34212312588 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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is a technical term to describe individuals who are outsiders or only peripheral
members of a particular social network or peer group.

1. Lames

(]

. Interlopers
3. Insides

4. Aspirers
Options :
1.1
2.2
3.3
4.4

Question Number : 60 Question Id : 34212312588 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

- 09 fddal &1 9uiH &+ d1dl U ddb-idl Ueg g, Sl d1g3] gid © 41 [yl
=Y rHITS “ead a1 i3 THg & dhad IR ¥aw 8id 6:

RSeS|

2. SeXdgy
3. TSy
4. THIERY

Options :
1.1
2.2
3.3
4.4

Question Number : 61 Question Id : 34212312589 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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A theory in phonology (extended to morphology and syntax) which maps the relationship
between the underlying and output representations through a system of well-formedness
constraints and ranking is called

1. Autosegmental theory

[

. Segmental theory

ad

. Optimality theory

4. Suprasegmental theory

Options :
1.1
2.2
3.3
4.4

Question Number : 61 Question Id : 34212312589 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fep it TaTyfchan (FufaeT qT ared fasr dut fawdiiRa) H 98 Risid ST g dreraref qur
YUfiHR01 B YUTTel FRT GeTHR a7 (Hd FReu0l & i Sde &1 Uidfe=o Hd1 8, dedldl g

1. WOadst fagid

]

W3THD [Ygld

. SVIHdI &I [gid

[F5]

4. e fGgid
Options :
1.1
2.2

3.3
4.4

Question Number : 62 Question Id : 34212312590 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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The study of social interaction in terms of categories , methods and techniques utilized by the
members of a society themselves is called

1. Ethnography
2. Ethnomethodology
3. Ethnoliguistics

4. ethnosemantics

Options :
1.1
2.2
3.3
4.4

Question Number : 62 Question Id : 34212312590 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fon it THTS & Fe @l gR1 Ty Ugdd 40l ggiaal iR do-id! & 38R TS 3=
fohd1 &1 g Dhgaldl s

1. Jeifd aui

2. Joifa-ufafe fagm
3. JefTfd-HTeT fa3
4. Jorifer-orf fagm

Options :
1.1
2.2
3.3
4.4

Question Number : 63 Question Id : 34212312591 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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An instrument used in articulatory phonetics for recording glottal area variation by measuring the
amount of light passing through the glottis is called

1. Phonoglottograph
2. Photoglottograph
3. Logoglottograph

4. Sonoglottograph
Options :
1.1
2.2
3.3
4.4

Question Number : 63 Question Id : 34212312591 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

SRS THGIH H YR & HEH H ToRH aTd Yo & TRAT Bl ASR HgRia
& uRadA gq WIa 4 deedl o

[
]
o
4
=
=

F' Sy T

4. AN HITE
Options :
1.1
2.2
3.3
4.4

Question Number : 64 Question Id : 34212312592 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 72/190



8/31/24, 10:22 PM g28.digialm.com/CAE/viewHtmIPDFAction.action

is a type of speech act which gives reaction to or expresses attitudes or emotions
towards the conduct, fortune and attitudes of others.

|. behabitive
2. commissive
3. verdictive

4. expercitive
Options :
1.1
2.2
3.3
4.4

Question Number : 64 Question Id : 34212312592 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Udh YR Bl dih-ATUR g Sl UTdTchal &dT g a1 =g 3{TRT, Bl 3R
fYgiral & Ul sfyafrl a1 Yo &l sfHea gl

1. AdgRIHD (behabitive)
2. Ulddg (commissive)

3. AfHfvfaTHS (verdictive)
4. TORTTHS (exercitive)

Options :
1.1
2.2
3.3
4.4

Question Number : 65 Question Id : 34212312593 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Which of the following is INCORRECT pair of voiceless-voiced speech sounds:

L. [P]-[p]
2. [/1-1»]
3061 -[el
4. [s]1-12]
Options :
1.1
2.2
3.3
4.4

Question Number : 65 Question Id : 34212312593 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fFafeiad § 9 & SHIv-gUIy ald -5+ &1 1ed I g2

1. [P] - [b]
2. [f1 - 8]
3061 -T[el
4 [s1-[2]
Options :
1.1
2.2
3.3
4.4

Question Number : 66 Question Id : 34212312594 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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is a form of individual billingualism in which speakers supposedly have one set of
concepts which are related to two different sets of words in two different languages.

1. Coordinate bilingualism

(]

. Socletal bilingualism
3. Additive bilingualism

4. Compound bilingualism

Options :
1.1
2.2
3.3
4.4

Question Number : 66 Question Id : 34212312594 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

feHIT D dl &1 T U gId1 ¢, S qarait & urd qUTe R—id b ed-radt &1 Ud
TG BidT ¢ Sl & SfeTT-3felTT HIwTei § Xeci & (el ge! § Yeftd gid &

L. GHMEID fgHISDd

2. grHISIS U ddl

3. gioid fgYINSHdl

4. I fgHIS
Options :
1.1
2.2
3.3
4.4

Question Number : 67 Question Id : 34212312595 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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The words ‘brunch’, ‘Interpol’ are examples of

=

. Clipping

t2

. Blending
3. Conversion

4. Back formation
Options :
1.1
2.2
3.3
4.4

Question Number : 67 Question Id : 34212312595 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Meg 'S (brunch), -ﬂﬂfii ¢I” (Interpol) & 3al g Ul %’ll
B (faafd)

o3 (scdfSm)
3. R (BduiH)

4. GrEI® AR (db BIHRM)

Options :
1.1
2.2
3.3
4.4

—

[~

Question Number : 68 Question Id : 34212312596 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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In typology . the study of the different ways in which languages signal which noun is modified by
a given relative clause is called

1. Reciprocal
2. Recoverability
3. Recursion

4. Reduction

Options :
1.1
2.2
3.3
4.4

Question Number : 68 Question Id : 34212312596 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Uy A, 3 - e adiepl & 3reqa forH HINTY Yebd il €, H U Heledraad
YA §RT EUART S Hgardic

L. URER®

2. GF: WIS TP (recoverability)

3. URIGdA

4. gld

Options :
1.1
2.2
3.3
4.4

Question Number : 69 Question Id : 34212312597 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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The *Inflectional Parsimony Principle’ was proposed by

1

]

. S.R. Anderson

. M. Aronoff

. A. Carstairs

4. P. Matthews

Options :

1.1
2.2
3.3
4.4

Question Number : 69 Question Id : 34212312597 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fqUiTTR® S Hrd NS (G HddHd giHEi- URge) &1 uidaed

YTl

1. 09, 3R, UsUq

s

3

.U, WHG
U DIy

4. U1, Bagd

Options :

1.1
2.2
3.3
4.4

Question Number : 70 Question Id : 34212312598 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Which of the following Indian language-family pair is CORRECT ?
1. Santhali - Tibeto Burman
2. Bodo - Austro Asiatic
3. Kurux - Dravidian

4. Tulu - Indo Arvan

Options :
1.1
2.2
3.3
4.4

Question Number : 70 Question Id : 34212312598 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frafaiad o I SH- YR 1T - U o Ugl €2
1. Gyredt - forssyt st
3. oM - Gld3
4.9q - 331 31

Options :
1.1
2.2

3.3
4.4

Question Number : 71 Question Id : 34212312599 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Identify the term that refers to the change in a root vowel which indicates a change in
grammatical function:

1. Assimilation
2. Ablaut
3. Euphony

4. Umlaut

Options :
1.1
2.2
3.3
4.4

Question Number : 71 Question Id : 34212312599 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

dg D191 Ug g ol 39 ddfeid WR H uikddd &1 giidl ¢ Sl A1HRi0d Uhrd d &I uRddd
SdTdl g2

1. gHIYaA
2. 3gyfd

3. gyl
4. Ay

Options :
1.1
2.2
3.3
4.4

Question Number : 72 Question Id : 34212312600 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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The Dravidian languages of India are generally considered to have morphological
properties.

1. Isolating
2. Synthetic
3. Polysythetic

4. Agglutinative

Options :
1.1
2.2
3.3
4.4

Question Number : 72 Question Id : 34212312600 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

YR Pl glag U131 BT HRI: egITd fARIydre 9re1 HH1 SIdl g
1. IS

>, Gfkey

3. gD

4. 9t (Agglutinative)

Options :
1.1
2.2
3.3
4.4

Question Number : 73 Question Id : 34212312601 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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The -s. marking genitive case in English is an example of

1. Emphasis

t2

. Proclitic
3. Enclitic

4. Plurality

Options :
1.1
2.2
3.3
4.4

Question Number : 73 Question Id : 34212312601 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

3G H UdYdR® G- gl -s BT U 3ol ol
1. 9 (b R)
0. YTyt (Uifddicd)

3. qaydl (il )
4. 9gddqd (QRIerdT)

Options :
1.1
2.2
3.3
4.4

Question Number : 74 Question Id : 34212312602 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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is a process of reasoning that moves from the observation of particular entities to a
general proposition about the class of entities.

l. Induction
2. Deduction
3. Abduction

4. Inflexion

Options :
1.1
2.2
3.3
4.4

Question Number : 74 Question Id : 34212312602 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

difchahdl &1 Udh Ulhdl g Sl [d9Y Ydl & ddidb 4 dddh Ul & ail &b
a1 H Udh YERI ddb 9l B AR Sk g

1. DR
2. A

3. 3HYIHA

4. fauiad
Options :
1.1
2.2
3.3
4.4

Question Number : 75 Question Id : 34212312603 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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The concept of generalized transformation (where the rule operates with an input of two or more
terminal strings) was revived in the Minimalist Programme as more generic operation called -

1. Merger
2. Reduction
3. Specialized Procedure

4. Embedding
Options :
1.1
2.2
3.3
4.4

Question Number : 75 Question Id : 34212312603 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

RIS TR (STg! FaH &1 a1 39 3ifed 3 ATal & e & 1Y S $Hdl §) B
HHea Bl AfEEH I S (SRS TRIA) & =9 H BiHEiRes U | gifed
fepan AT, Sl Hedldl g -

1. [9ag4 (HeR)

2. AYPH0N (RSAM)
3. fafzw ufdhar
4. 1Y (FHEET)

Options :
1.1
2.2
3.3
4.4

Question Number : 76 Question Id : 34212312604 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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In this linguistic impairment, patients find it difficult to give the names for objects indicating that
they have difficulty in finding words for production. The ailment is known as.-

1. Aphasia
2. Agrammatism
3. Anomia

4. Dyslexia
Options :
1.1
2.2
3.3
4.4

Question Number : 76 Question Id : 34212312604 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

3 YT 43 & &Iy |, 1T & ferg axg 3l & 914 <1 Jf=ed gl <iidl ¢, S 9g udT Jedl
g I 38 FHior & fore < g | SioTs Bidl &1 59 17 &1 M 8-

1. HIYTHId
2. TUHIESH
3. U
4. fEaifaaan

Options :
1.1
2.2
3.3
4.4

Question Number : 77 Question Id : 34212312605 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 85/190



8/31/24, 10:22 PM g28.digialm.com/CAE/viewHtmIPDFAction.action

A constraint in syntax which states that when a subordinate clause or noun phrase contains a
specified subject, no other (non-subject) constituent can be moved out of that clause is called -

1. Specifier-Head Agreement

(]

. Specified-Subject Condition

ad

. Complex NP Constraint

4. X-Bar Theory

Options :
1.1
2.2
3.3
4.4

Question Number : 77 Question Id : 34212312605 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fepil a1 fa=arg | dg el ol ddidl g b ofd fbdl 3% d Iuared g1 dyucdsy | &l
ey 3= (ERwIEs Ysside) BT 8. a1 39 SUaid I [l 3 31-3e=T (F9-Useide)
A1 DI g1 BT ST b, Healdl o -

1. UEES g i<

2. HIBIES Yeolde Ui
3. A T Ul <

4, TqH-dR AN

Options :
1.1
2.2
3.3
4.4

Question Number : 78 Question Id : 34212312606 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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The result of the process of conceptualization is a psycholinguistic phenomenon generally known
as -

. Formulation

(]

. Pre-verbal message
3. Articulation

4. Self-repairs

Options :
1.1
2.2
3.3
4.4

Question Number : 78 Question Id : 34212312606 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

HH g1 YR ST UldsdT &1 HAId-d URUITH gidl o, o dhad ¢ -
1. =g
2. Jd-gIfdd 49X

3. 3=dRU

4. [GI-GUR
Options :
1.1
2.2

3.3
4.4

Question Number : 79 Question Id : 34212312607 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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In Indian Grammatical Tradition, the basic parts of speech categories used for classification are-

1. Nama, kriya , upasarga. visesana

t2

. Nama, akhyata, upasarga. avyaya
3. Samjia, sarvanama, kriya, upasarga

4. Nama, akhyata, upasarga, nipata

Options :
1.1
2.2
3.3
4.4

Question Number : 79 Question Id : 34212312607 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

YR HATHRI0TD GRURT H Gl (FelRihIh <) gd Wk STHIRYd eg e i0i g -
1. A9, fohar, Iua, fa=iyo

4. 9T, 3T, IUH, fard

Options :
1.1
2.2
3.3
4.4

Question Number : 80 Question Id : 34212312608 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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It refers to an approach based on the use of tasks as the core unit of planning and instruction in
language teaching. It is called -

[—

. Total physical response

2

. Competency-based Language Teaching
3. Situational Language Teaching

4. Task-Based Language Teaching

Options :
1.1
2.2
3.3
4.4

Question Number : 80 Question Id : 34212312608 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

g Bl o IUANT TR TR SURTH Dl NI RA&01 T A1 AT 3R (e $t g1 3dbTs
& U HefHd B g1 I8 ol @ -

1. GHE Yifdd sifbar

2. BHAT-STYTRT YIS fRremor
3. TRIfdORe HNT ey
4. BTG HIST f21eor

Options :
1.1
2.2
3.3
4.4

Question Number : 81 Question Id : 34212312609 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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In Optimality Theory, a component which creates a (potentially infinite) set of possible linguistic
cardidates whose faithfulness properties can be considered in relation to a particular input is
called-

1. Generator
2. Parser
3. Classifier

4. Analyzer

Options :
1.1
2.2
3.3
4.4

Question Number : 81 Question Id : 34212312609 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

20dl fgid ¥ 98 Y S YIidd YNl SEiCdRi @ 99=d (GUIfdd 0 U 3H=d) &I
ﬁﬂﬁﬁg%ﬁﬂﬁ%ﬁ%ﬂwﬁ%ﬁﬁﬁwﬁﬁmm 3eH & Udy H fadr fear
oIl 9&dl g, Hedldl ¢ -

1. SFYeR
2. URR
3. FANTRIAR

4. UAeflgulR
Options :
1.1
2.2
3.3
4.4

Question Number : 82 Question Id : 34212312610 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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The Communication Approach in language teaching starts from the theory of -

. Language as a system

t2

. Language as a human feature
3. Language as a social construct

4. Language as communication

Options :
1.1
2.2
3.3
4.4

Question Number : 82 Question Id : 34212312610 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

HIYT fR7&01 § YUY RS IUNTH 9 & RIS Y URM B g -
I. UGid & BYH 4N

2. /Fd & =Y H HINI
3. YIS A1 &b =Y H HIH
4, QUYL & =0 H HIH[

Options :
1.1
2.2
3.3
4.4

Question Number : 83 Question Id : 34212312611 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Who among the following linguists introduced the term “descriptive fallacy™?

. Ferdinand de Saussure

t2

. John Lyons
3. JL. Austin

4. Leonard Bloomifield
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Options :
1.1
2.2
3.3
4.4

Question Number : 83 Question Id : 34212312611 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fafaRad | 9 fog v fagr! 3 <auiHras e ge &1 ufaared feanm
1. BiSIS ¢ 9IepR
2. Sl ferdi=g
3.9l Ud. 3
4. TS sHBIS
Options :
1.1
2.2

3.3
4.4

Question Number : 84 Question Id : 34212312612 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

For . equivalence is ““an illusion of symmetry between languages which hardly
exists beyond the level of vague approximations and which distorts the basic problems of
translation”

1. Eugene Nida
2. Mona Baker
3. Roman Jakobson

4. Mary Snell-Horby

Options :
1.1
2.2
3.3
4.4

Question Number : 84 Question Id : 34212312612 Question Type : MCQ Option Shuffling : No
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Correct Marks : 2 Wrong Marks : 0

& YUR, Ui <yl & gl Yafid o vh Y9 g ol gy Yl & &R
& 2 4T I I &I g1 © 3R Sif 3gd1e &1 5o grawnai & figd o2 adi 2|

L. o 1331
2. HHTdHR

-

3. A Sl

4. 7 gaaglell

Options :
1.1
2.2
3.3
4.4

Question Number : 85 Question Id : 34212312613 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following option is NOT excluded in the grammatical meaning ?

1. Meaning of grammatical elements such as affixes, articles and prepositions

f-2

. Primary meaning of a lexical item
3. Meaning expressed by syntactic functions

4. Meaning of a grammatical construction

Options :
1.1
2.2
3.3
4.4

Question Number : 85 Question Id : 34212312613 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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FgfeiRad 9 U &1 I fddhed A1 31 § M 78] 82
1. IR0 3G8d, YT U, 349G qyT ga e

- HIATd 91d1 T UIITHS 31
3. Y] Uhr (haeH) gRI dd 32
4. HI0[EH T BT 34

Options :
1.1
2.2
3.3
4.4

f-2

Question Number : 86 Question Id : 34212312614 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Who among the following poeticians was the founder of the Vakrokti school?

1. Mammata

t-2

. Anandavardhana
3. Kuntaka

4. Bhamaha
Options :
1.1
2.2
3.3
4.4

Question Number : 86 Question Id : 34212312614 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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FEfRad 5 9 & U SIoad] ddhiidd URAT & S=ITTE 8o

1. HHC

f-2

 3H<aed
3. Pdd
4. g

Options :
1.1
2.2
3.3
4.4

Question Number : 87 Question Id : 34212312615 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following statements is true of Abhidha and Vyaijana ?

1. Abhidha and Vyainjana are identical in their semantic import

t-2

. While Abhidha expresses positive meaning. it is possible that Vyanjana is negative

3. Abhidha expresses obsolete meaning whereas Vyaiijana expresses the meaning in
contemporary use

4. Abhidha 1s primary meaning of the word whereas Vyaijana is the intentional meaning of the

speaker
Options :
1.1
2.2
3.3
4.4

Question Number : 87 Question Id : 34212312615 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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3{farem 3R o1 & fawg o FEfeiRad o  F 916U 99 82
1. ST 3R ST 30 1t oM § 9auy |
 Sldfd U GhRIAD 31U Bl i Bl 6. g Y4 g fb A ThRIEASD Bl

. afmmérg’t?r{wgaﬁ) 31 B SHferad Bl ¢, Wi Lo GHBIcdD 31 DI T
GG

f-2

L

4. ST eg BT T 314 ¢, STdfch o1 gkl ] Yy ¢ |

Options :
1.1
2.2
3.3
4.4

Question Number : 88 Question Id : 34212312616 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The Amarakosa - a 4th C work of lexicography in Sanskrit-can be categorized as-

1. A glossary of Ayurveda

t-2

. A formal lexicon for grammar
3. A thesaurus

4. An encyclopedia

Options :
1.1
2.2
3.3
4.4

Question Number : 88 Question Id : 34212312616 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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RG-S d T HIDc DI 1t YdTec] bl T Bl (99 U R 1 Fifhd fHa1 ST Yhd1 5
. 3dde B WsgTac

 H] & AU U EUTHSD Yea-U9g

T U0 MG

4. Ud [qydIY

Options :
1.1
2.2
3.3
4.4

—

f-2

L8]

Question Number : 89 Question Id : 34212312617 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A theory that says that the meaning of a linguistic expression is the concept or idea associated
with it in the mind of anyone who knows the linguistic expression is called-

1. Behaviorist Theory of meaning
2. Truth-condition theory of meaning
3. Meaning-in-use theory of meaning

4. Mentalist theory of meaning

Options :
1.1
2.2
3.3
4.4

Question Number : 89 Question Id : 34212312617 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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9g Rgia 59 g8 &gl a1 ¢ fb 39 3ayRn a1 fdarR | foodt 1Nt siiteafad &1 31 39
fdd & B H S ISRl 2ffiyeaidd &1 SHdT 8, 9 Ysied g, $edidl o-

. 3% &l HdgRarK! Rigid
-3 1 gaAniyd gid

3 1 agR H 3 gl
4. 3 1 AAEG] S

Options :
1.1
2.2
3.3
4.4

—

I

L

Question Number : 90 Question Id : 34212312618 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The Indian Language Corpora Initiative (ILCI) which was funded by TDIL proggramme of GOI
was a project for -

1. Developing comparable corpora
2. Developing un-annotated corpora
3. Developing un-annotated paralled corpora

4. Developing comparable annotated corpora for discourse

Options :
1.1
2.2
3.3
4.4

Question Number : 90 Question Id : 34212312618 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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YR WHR & AISIASTA HAFHH gRT FRfR sitse des sk sHifmfes
(METaYtes), 9 & g Ud uRameHr off -

1. dcd I1gd Bl fdhd &1

2. IDIHd GH-R digd &l [dh i ad HeAl

3. AIDIHd YHR digd Bl [dHRd ST

4. Tam=l & fow gt Abihd argd &l fabRd d=T

Options :
1.1
2.2
3.3
4.4

Question Number : 91 Question Id : 34212312619 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the writing systems in the order of their evolution over the centuries:

A. Ideograms

B. Pictograms
C. Logographic
D. Syllabic

E. Phonographic

Choose the correct answer from the options given below:
1.A,B,C,D,E
2B ACDE
3 E DB AK

4 EACB,D

Options :
1.1
2.2
3.3
4.4

Question Number : 91 Question Id : 34212312619 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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fgfaRad o= vonferdl &1 9iedl U 3% e [dbg & $H H Haiid B

A, HIged
B. e
C. FsGaid
D. 3&RfaqH
E. W@

A fau U fadedl # U Ul 3R &I 994 DIl

1.A,B.C.D.E

2.B,A,C,D,E
3.C,D,B,A,E

4 E.A C,B,D
Options :
1.1
2.2
3.3
4.4

Question Number : 92 Question Id : 34212312620 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Correctly identify the order of application of the transformational rules in the process of
passivization in English.

A. The first noun phrase in the active sentence is placed at the end of the passive sentence

B. The second noun phrase in the active sentence is placed at the beginning of the passive
sentence

C. The verb is changed into participle form

D. An auxiliary verb (Aux) in inserted before the main verb

E. A particle *by’ is inserted between the verb and the final noun phrase

Choose the correct answer from the options given below:
L B E I
22B,D,AEC
3. ABCE

4.A,B,C,D,.E

Options :
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1.1
2.2
3.3
4.4

Question Number : 92 Question Id : 34212312620 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ST O SHdrfIH01 B Uidhar 1 IR RS ™l & -0 & 9l o4 ol ugdH &

A. ©qdEd did § Ugd U3l e &l HHdardd I & 3 J [Yd {Gar Sdr g
B. Doddd didd H G U3l UGa~ &l HHaEd 91 & YR H T fHar S gl
c. foba1 b1 de-d faxivur 4 uikafdd fbar srar g

D. Ygrd fehdl &1 g@ fohdn T gd a2 fdar Sirdr g

E. U [U1d by B Tohd1 3R 3~ Tl U=l & T F+a=1 {1 S 3|

A fou U fadedl # U Ul 3R &1 994 DIl

1.C.A; B, E, D

2.B,D,AE,C

3.D,A,B.C.E

4. A.B.C,D.E
Options :
1.1
2.2
3.3
4.4

Question Number : 93 Question Id : 34212312621 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Arrange the following ‘lects’ in the order of scope expansion and use (from smaller to bigger).

A. Dialect

B. Sociolect
C. Idiolect
D. Familylect
E. Language

Choose the correct answer from the options given below:

1.E.B. A C.D

b2

DB AE
3.0,B.C,D,E

4.E.C,B,A.D

Options :
1.1
2.2
3.3
4.4

Question Number : 93 Question Id : 34212312621 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frafafad w13 &1 3 f[aedR 3R UgiT & H H FafRyd B (BI¢ Y 49)

A, dicll
B. AT did!
C. Aldd didl
D. UNGR dlcil
E. HIN[

A fSu TU f[d&eul | 9 Ygl 3 &I 94 BHIfeIu:

¥
LiE B €, B

]

DB AE

LS

A, B DB

4. E; C.B, A D
Options :
1.1
2.2
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3.3
4.4

Question Number : 94 Question Id : 34212312622 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following landmark works in semantics in chronological order with reference to their
first publication:

A. “The case for case” by Charles Fillmore

B. “The Language of Thought” by J.A. Fodor

C. “Seven types of Ambiguity” by William Empson
D. “Semantic, Theory” by J.J. Katz

E. "Semantics by Geoffrey Leech

Choose the correct answer from the options given below:
1.A,B,C,D, E
2.B,C.D;AE
3.8, DB E

4.E,D,B,A,C
Options :
1.1
2.2
3.3
4.4

Question Number : 94 Question Id : 34212312622 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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i  FHgfaRad Agwyul [EH13M & 37d UUH UHRH & T4 1 SaHbHe U Y
AT B -

A. I TheldR gRT <G &4 BR H9”

B. o, U. BISY gRI g el 3 Yie»

c. faferaq ThgaH gRI1 <Yd- el ™ 3% Uigiad!
D. 5. o, BIeS gRT ~HiAfeH Y3

E. [S12iTh! <l gR1 <diHfeay

i fau U fasedl # U Ul 3k &l 9949 DIl

LA BC I E

2B, C, D AE
3.C,A; D, B.E

4. E. D, B, A.C

Options :
1.1
2.2
3.3
4.4

Question Number : 95 Question Id : 34212312623 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following nasal characters in a sequential order based on their place of articulation
(Front to Back)

A. n (Dental nasal)
B. n (Retroflex nasal)
C. m (Labial nasal)
D. n (Palatal nasal)
E. p (velar nasal)

Choose the correct answer from the options given below:
1. C.A B D E
2B Co A E DD
3. DABEE

4.E,B,C,A,D

Options :
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1.1
2.2
3.3
4.4

Question Number : 95 Question Id : 34212312623 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fFrafeiad ATReeR &1 3d SR R & YR W HH H HdRYd oY -

 n (&g ATTE)
.IL(WHW)
- m (3I§Y A1)
R GIGEGIER)
- (WW]

A fou U fadedl # U Ul 3R &1 994 DIl

LACABDE

MmO n W e

B

B, CAED
3.D,A,B.C.E

4. E.B.C,A,D
Options :
1.1
2.2
3.3
4.4

Question Number : 96 Question Id : 34212312624 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Arrange the following tasks in a sequential order (first to last) that are followed for teaching
reading skills to learners:

A. Prereading: Identifying the graphemes

B. Fit: associating the graphemes and the language

C. Habit: Reading what is spoken

D. Reading aloud: speaking what is written

E. Reading for information: technical, cultural, recreational

Choose the correct answer from the options given below:
1.A,B,C.D,E
2D BE
3. DAE R, €

4.B,E,D,C,A

Options :
1.1
2.2
3.3
4.4

Question Number : 96 Question Id : 34212312624 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Rl & U3 Hi=ral & fau 3ER0 fhU SH ara FHfaiRad Sl & SbHd § Faferd
ﬁ(&ﬂiﬁ“ﬁﬂﬁ}:

A. Gd Y3 : <IRGAT 1 oo

B. 3{If<d (Fit) : IRGHT 3R HTNT DT Trg=id WU B3
C. WU - S ST 711 § SUBT U3

D. YR 13 : Sl foRdl 311 € IUD! dic

E. Y14 U1G : dh-1bl, Gikpidd, AIfd-IgIdTd

A U U [ddeul # O gl 3R &I 994 HIIT:

LA B:C I E

2.C, A, D;B.E
3.D,A,E,B,C

4 B,E,D,C,A

Options :
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1.1
2.2
3.3
4.4

Question Number : 97 Question Id : 34212312625 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following sets of consonants in sequential order based on their places of articulation
(Back to Front):

A. Palatal
B. Retroflex
C. Labial
D. Dental
E. Velar

Choose the correct answer from the options given below:
1.A,B,C,D, E
2N EB
3.EA B, D.C

4B.C. D E.A
Options :
1.1
2.2
3.3
4.4

Question Number : 97 Question Id : 34212312625 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Al & EARIT THgl BT 37d TR & RIH & YR TR [qUd b (Ui 9 3117
 raferd &y -

A, dlcdd

B. Ufddy
C. 355

D. <4
E. hod

A fau U fawedl # U Ul 3k &l 994 DIl

LA BC I E

b2

CADEB
3. EAB.DC

4. B, C. D EA

Options :
1.1
2.2
3.3
4.4

Question Number : 98 Question Id : 34212312626 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following schools of literary theories in chronological (older to new):

A. Alamkara (Bhamaha)
B. Riti (Vamana)

C. Vakrokti (Kuntaka)
D. Rasa (Bharata muni)
E. Aucitya (Ksemendra)

Choose the correct answer from the options given below:
1 ABCDLE
2. A BCE
3. BACDE

4.D,C, B; AE
Options :
1.1
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2.2
3.3
4.4

Question Number : 98 Question Id : 34212312626 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Yifefas gl & FafaRad adlfaeari & (= 9 9di9) & [HH § aife)d &

A, AdPR (HTHE)
B. 3Ifd (@)
C. IPITRT (D)

D. 3 (HagH)
E. 3N (88

A TS TU f[9& el | 9 Ul 3 &I 94+ BHITelu:

1.A,B,C,D,E

2B A B CE

3.B,A,C,D.E

4.D,C,B,AE
Options :
1.1
2.2
3.3
4.4

Question Number : 99 Question Id : 34212312627 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Arrange the following books by Mark Aronoff in chronological order (older to newer).

“What is morphology™

“Word formation in generative grammar”
“Morphopology by itself: Stems and intlectional classes™
“Morphology Now™

ONwp

Choose the correct answer from the options given below:

1.A,C,D,.B

t2

G DL BA
3:D,A, B, C

4.B.D.C.A
Options :
1.1
2.2
3.3
4.4

Question Number : 99 Question Id : 34212312627 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

AT WHIh D1 FEfCRad Gl & QR U U & 3 hH o Had HY |

A. <GIE 39 AlDIcTS
B. “ds BIHYM 3 oi-Rfed gHR"

C. “HItp{cflsll dlg ge8eth : TR YUS gl defreol”
D. “HIbalsi 713"

AT fou U fadedl § U Ul 3R &1 994 DIl

1. A 0GB B

|

f2

2D BA
3:D4,B; C

4.B,D,C A

Options :
1.1
2.2
3.3
4.4
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Question Number : 100 Question Id : 34212312628 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following theories in a sequential order from the oldest to the newest:

A. Regularity Hypothesis

B. Verner's Law

C. Structuralism

D. Social motivation of sound change
E. Grimm's Law

Choose the correct answer from the options given below:
1. A,E,B,C,D
28 BEDC
3.EBADC

4.D,A,C,B,E

Options :
1.1
2.2
3.3
4.4

Question Number : 100 Question Id : 34212312628 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TfRId Rl &1 U= O 9diH & 3y § HafRd &3

A, FFafidar urdds g1

B. R & gH

C. G¥d4mdig

D. WA-URGdA &l YrHIE ATHURT
E. B &1 a9

A fou U fadedl # U Ul 3R &1 994 DIl

Lo By B, D

2ABEDC

3. E. B A D C

4. DA C B E
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Options :
1.1
2.2
3.3
4.4

Question Number : 101 Question Id : 34212312629 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following cases as observed in Indo-Arvan languages (in conventional order)

A, Instrumental
B. Ablative

C. Nominative
D. Dative

E. Accusative

Choose the correct answer from the options given below:

L.ECAE B

B

BB
3: B, D, B A G

4. ADBEC

Options :
1.1
2.2
3.3
4.4

Question Number : 101 Question Id : 34212312629 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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URATT U3 4 (afaiRad SR$T I (URURS 3HH o) Taid oF -

A. DI
B. 3{UlqlH
C. &l
D. uaH
E.®&H

A fau U fadedl # U Ul 3R &I 994 DIl

1.D,C.AE, B

[

.C,E,A,D,B
3.B,D,E.A,C

4 AD,B,E.C
Options :
1.1
2.2
3.3
4.4

Question Number : 102 Question Id : 34212312630 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following surveys in chronological order: (older to newer)

“Survey of English Dialects”- Harold Orton

“German Dialects”-Georg Wenker

“Linguistic Atlas of New England”-Hans Kurath et.al.
“Danish Dialects”-Marius Kristensen

“Linguistic Survey of France”- Jules Gillieron

monw

Choose the correct answer from the options given below:
1. A,D,E,C.B
2.B,A,D.E,C
3B.E.D.C,A

4. E A CB,D

Options :
1.1
2.2
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3.3
4.4

Question Number : 102 Question Id : 34212312630 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fafcRad Ud &l SIarHd H AR Y (GRH U ) -

A. “Td HP SR ST - RIS 3ficd

B. <Ol SddCY” - Silo dh

c. “fdiffiafes Tedy 3i1h g 37cvs” - g4 B et. al.
D. “SH% S - AT fh 4

A fGu U [dd el # 4 gl IR &1 994 HIIT:

1.A,;BE, C, B

2.B,A,D.E,C
3.B,ED CA

4 EACBD
Options :
1.1
2.2
3.3
4.4

Question Number : 103 Question Id : 34212312631 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Arrange the following developments in Chomsky's theories in chronological order (older to
newer).

A. Standard Theory

B. Extended Standard Theory

C. X-Bar Theory

D. Government and Binding Theory
E. Minimalist Program

Choose the correct answer from the options given below:
1.A,C,B,D,E
2.8 B Co B E
34, DB, CE

4. E.D,C. B, A

Options :
1.1
2.2
3.3
4.4

Question Number : 103 Question Id : 34212312631 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

D1 & el ¥ (afafad faar™l & sradsa § safed &3 (QE U )

A. TS g

B. [a%ivd AF® g

C. Ud-aR g

D. PR R a=H Mg
E. [AfAAeRe URme

A U U [ddeul § U Ul 3R &1 994 HIIT:

1.A,C,B,D,E

2AB.CDE

3.A. D BCE

4. E,.D,C,B,A
Options :
1.1
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Question Number : 104 Question Id : 34212312632 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following scheduled languages of India are written correctly with their script and
family:

A. Konkani - Devnagari - Indo Aryan

B. Santhali - Ol Chiki - Austro Asiatic
C. Manipuri - Metel - Dravidian

D. Maithili - Devanagri - Tibeto Burman
E. Telugu - Telugu- Dravidian

Choose the correct answer from the options given below:
1.A. B.C,Donly
2. A B.E only
3.C,D.E only

4.B,C,D.E only
Options :
1.1
2.2
3.3
4.4

Question Number : 104 Question Id : 34212312632 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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URd & FHEfafad o 9 &4 91 3yfad Uil 3961 faft ok oo & 91y 91 fafad g2

A. DB - TEATRT - HRA 2
B. TUTel - 3iid e - sifee) uRmrd
c. OG- 7ds - sfds

D. AR - SR - Tsae) e

E. dq7 - 07 - (98

1d feu MU fqdheal & 9 91 SR BT 999 Difeie:
1.hdd A, B, C, D
2. Hdd A,B.E
3. %94 C, D, E
4. $dAB.C.D.E

Options :
1.1
2.2
3.3
4.4

Question Number : 105 Question Id : 34212312633 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In the conventional top-down syntactic analysis by computers following the grammar based
methods, which of the following sequence of steps should be followed -

A. Load grammar-lexicon

B. Read input sentence

C. Search for S node in the grammar and proceed downwards
D. Search POS categories in Lexicon

E. Display results

Choose the correct answer from the options given below:

1.8, B BUCE

[

. ABE B E
3.B; A, C,D,E

4. C.B,A; D E
Options :
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1.1
2.2
3.3
4.4

Question Number : 105 Question Id : 34212312633 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ALY [ATE] BT TR0 B el GUId gRI$¢ HUNTH drefd-ararddd
fa=eyor 4 9l &1 Hafeiad J 9§ f6d oF o SaRd fdhar S 4ngu -

A. AR - Yo 1 Dl TS DAl

B. (% &Y= &1 UgHl

C. AMHUH § 1S & 61U Gl D=1 3R SHe1gE Ui A1
D. A H A H POS T &I d HeAl

E. URUMHI & fEe &A1

A fSu U fadmedl § U 9ol 3R &l 994 Bl

1.8, B BLCE

2.4, BBV E
3.8:; A, C, D, E

4. C,B,A,D.E
Options :
1.1
2.2
3.3
4.4

Question Number : 106 Question Id : 34212312634 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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State which of the following statements are false.

A. Grimm's Law is known as ‘First Sound Shift’

B. Neo-grammarian Hypothesis came after structuralism
C. Speculative grammarians originally came from India
D. Glottochronology is a part of “Split” and "Merge'

E. Verner's law is also called “Second Sound Shift”

Choose the correct answer from the options given below:

1. A and B only
2.B. C and D only
3. Cand D only

4. A. B and C only

Options :
1.1
2.2
3.3
4.4

Question Number : 106 Question Id : 34212312634 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

FOfRGd H ¥ &F U Y 2 52

A T & a0 o B 9ds RIve: wel Jdi e
B. Hod SHHRU] Yladh o], YIS [ & aR 315

C. UREHUHIHSD JG1H0 d &4 4§ HRA ¥ 31U
D. TdlCIh HIdmsl f[UTSH 3R fde (Refe 3R 7o) &1 Y3
E. &R & o0 & -gdhs 9133 e i dgd 8|

1 feu U fas ettt # 9 F1 IR &1 99 DI
1. had A 3R B
2. HddB, C 3R D
3. &Hdd C 3R D
4. HdA A, B3R C

Options :
1.1
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2.2
3.3
4.4

Question Number : 107 Question Id : 34212312635 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Ferdinand de Saussure proposed the following dichotomies:

A. Langue and Parole

B. Signifier and Signified

C. Analogy and levelling

D. Arbitrariness and displacement

E. Grammatical Competence and Communicative Competence

Choose the correct answer from the options given below:

1. A and B only
2. A.Dand C only
3. B and D only

4. D and E only

Options :
1.1
2.2
3.3
4.4

Question Number : 107 Question Id : 34212312635 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Ho e Sl QiR H HafeRad fg Ui &1 ukdrd faar:

A, QI 3R R

B. Udhdd 3R dbfdd

C. 9=y 3R AR

D. IR 3R f[quiomy

E. ATEHRIUTD &Hdl 3R U0 &HdTl

- fqu ¢ fgdett H# 4 FoT IR &l 99 DI
1.®dd A AR B
2. HIAA, D AR C
3. $ddB 3R D
4. HIAD 3R E

Options :
1.1
2.2
3.3
4.4

Question Number : 108 Question Id : 34212312636 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In Historical linguistics the term ‘cognate’ refers to.

A. A linguistic form which is historically derived from the same source

B. A linguistic form which belongs to the same geographical location

C. A linguistic form which shows structural and semantic similarities

D. A linguistic form which is pronounced in the same manner by speakers

E. A linguistic form which warrants application of several cognitive processings

Choose the correct answer from the options given below:

1. D and E only
2. Aand C only
3. Cand D only

4. B and E only

Options :
1.1
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2.2
3.3
4.4

Question Number : 108 Question Id : 34212312636 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

UfagTid Ul faiF | <9d: Ug o HafcRad 2mr o

A. U YINIE =4 o | Ufdgifie U 4 g 99+ |id 9 gs ¢
B. U% YINTE & U Sl UM Yiviifad Efefa I d6ia gl

C. U HINTS =0 Sl IS A1 Iamar gxiar g

D. U6 HINT5 =Y fS&] =R dadi3il gRT 9HH ¥4 U {601 S g

E. U YTWTs =0 [o9H e YIS Uiharsll & AUANT b1 Saxddhdl gldl g
i fau MU fasetl # 9 FT IR D1 99 i

1. $dd D 3R E

2. had A 3R ¢

3. dad C AR D

4. Had B AR E

Options :
1.1
2.2
3.3
4.4

Question Number : 109 Question Id : 34212312637 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Which of the following statements are true?

A. Every natural language has a grammar

B. A dialect is actually a language

C. A dead language cannot be revived

D. A normal human being cannot learn more than two languages
E. Every language has a writing system

Choose the correct answer from the options given below:

1. C and D only
2. B and C only
3. Aand B only

4. A and D only

Options :
1.1
2.2
3.3
4.4

Question Number : 109 Question Id : 34212312637 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fFafRad O &H 91 $UF 9d o2

A. Udd WIhidd UTH Udh Udh ATHR0I gldl ¢

B. Sicil (SUHINT) aRdd H HINT gl 5|

C. G Y9I Bl GSiiidd =g fbar i bl

D. U UHI Afad MHAR &1 § 2A{eE HINR 981 R I
E. Uddd U H oia a1 gl o

1 feu U fas ettt # 9 F1 IR &1 99 DI
1.9l C 3R D
2. HIAB 3R C
3. Hdd A RB
4. ®Hdd A 3R D

Options :
1.1
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2.2
3.3
4.4

Question Number : 110 Question Id : 34212312638 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A six-way distinction to capture different stages of endangerment viz, (1) safe (2) At Risk (3)
Disappearing (4) Moribund (5) Nearly extinet (6) Extinct. This was proposed by

A. Grimes and Grimes
B. Sallabank

C. Krauss

D. Grenoble and Whaley
E. Austin

Choose the correct answer from the options given below:

1. Aonly
2. Cand E only
3. B and C only

4. D only
Options :
1.1
2.2
3.3
4.4

Question Number : 110 Question Id : 34212312638 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Yhc D TR & -3 HIdl Sl YA & ol Tg UHR & GUFHROT 3UTd (1) Y&,
(z}trigﬁ@ﬂﬁ, (3) 3T, (4) AU, (5) YT U, (6) W | I8 Fafaiad gRT wdifad faa
gl

A TS U TN
B. Udldd

C. HI3Y

D. ¥9d US gl
E. e

- feu U fasett 7 ¥ @1 IR &1 99 DI
1. had A
2. $Hdd C 3R E
3. HIAB IR C
4. Had D

Options :
1.1
2.2
3.3
4.4

Question Number : 111 Question Id : 34212312639 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Identify the terms that are generally attested in Acoustic phonetics.

A. Anterlor
B. Burst

C. Coronal
D. Amplitude
E. Formant

Choose the correct answer from the options given below:

1. A, C,.Eonly
2. A, B, D only
3.B.C.Donly

4.B,D. E only

Options :
1.1
2.2
3.3
4.4

Question Number : 111 Question Id : 34212312639 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

3 UGl &1 UgdE Difoi ol Wi Hifds wHfas- 8§ Widbd gl

A. uﬁ_ﬁﬁﬁ{mnerior}
B. UTbC (Burst)

. FIgThd®H I (Coronal)

D. JHTUMH (Amplitude)
E. A=Y (Formant)

d feu T f[ddhet] § ¥ F8T 3R &1 98- DIfSIT:
l.Hhdd A, C IR E
2. Hdd A, B IR D
3. Hdd B, C 3R D

4. Hdd B, D 3R E

Options :
1.1
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2.2
3.3
4.4

Question Number : 112 Question Id : 34212312640 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Einar Haugen developed a fourfold model which describes the kind of activities in which
language planners typically engage. They are-

A. Elaboration of Function
B. Decision making

C. Implementation

D. Selection of norm

E. Codification of form

Choose the correct answer from the options given below:
1.A. B.D,E only
2.A,C,D,E only
3.B,C.D.E only

4. A, B, C, D only
Options :
1.1
2.2
3.3
4.4

Question Number : 112 Question Id : 34212312640 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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3R ENH A AT (PR Bhieex) Alsd [ iyd fhar i 34 miafafeml & UeR @1 9uiH g
fSTH YN ToHTOR [N E0 Y Taugld g, d 6 -

A. UDHH B ARy
B. Ul @I

C. HEagA

D. HHd Bl 944

E. U & Gigdidhul

- feu e faseut # ¥ #T IR &1 99 DI
1. Hdd A, B, D 3R E
2. Hhdd A, C,D 3RE
3.$dd B, C,D 3R E
4. Hdd A, B, C 3R D

Options :
1.1
2.2
3.3
4.4

Question Number : 113 Question Id : 34212312641 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Identify the types of rule ordering in generative phonology.

A. Feeding order
B. Bleeding order
C. Blocking order
D. Reversing order
E. Releasing order

Choose the correct answer from the options given below:
1.B, C,Donly
2. A.Bonly
3.A.E only

4.C.E.D only

Options :
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1.1
2.2
3.3
4.4

Question Number : 113 Question Id : 34212312641 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Oy

TSI -4 [a31H H HHRITYE &3 dicl (H9dl & UHR &1 UgdH BTl -

A HUT hH

B. 914& HH
C. faRY HH
D. [dug %A
E. FHEA B

- feu U fasett # ¥ FT IR 1 99 DI
1. $dd B, C 3R D

. Hdd A 3R B

3. hdd A IRE

4. Had C,E 3R D

Options :
1.1
2.2
3.3
4.4

)

Question Number : 114 Question Id : 34212312642 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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State which of the following statements are true .

A. India has 10 (ten) genealogical langnage types

B. India is claimed as a “Linguistic Area’

C. Dravidian languages originated from Indo- European family
D. Sanskrit is the mother of all Indian langnages

E. India is a country of a large number of minority languages

Choose the correct answer from the options given below:

1. A and B only
2. B and E only
3. Cand D only

4. D and E only

Options :
1.1
2.2
3.3
4.4

Question Number : 114 Question Id : 34212312642 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

FEfaRgaa d &1 9 HYUT 9d §, 3P Seaid B -

A YRAH 10 9T HIVE USRE |

B. HRd Ud HIYI &3 ¢

C. i[4S YN, YRd - GG IRIR ¥ 3T g2 ¢

D. T¥d 4T YR HIEI3{T B o1 B

E. R U UHI &0 g STeT I91 BT H [eusieisd IV ¢

1 feu U fas ettt # 9 F1 IR &1 99 DI
1.Hdel A 3R B
2. HddA B AR E
3. %dd C R D
4. H9AD AR E

Options :
1.1
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2.2
3.3
4.4

Question Number : 115 Question Id : 34212312643 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The proponent of ‘lexicalist hypothesis’ is

A. Mark Aronoff

B. Noam Chomsky

C. Morris Halle

D. Leonard Bloomfield
E. Ray Jackendoft

Choose the correct answer from the options given below:

1. B only

B

. C and E only
3. Aand C only

4. D only

Options :
1.1
2.2
3.3
4.4

Question Number : 115 Question Id : 34212312643 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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IMfeGd Uddhed-l & UlduGd o -

A. AT1h WHAG
B. A AIRD!

C. ARE gd
D. [T shies
E.XWdhSIh

- feu U fasett # ¥ FT IR 1 99 DI
1. hddB
2. $Hdd C AR E
3. HadA3MRC
4. HId D

Options :
1.1
2.2
3.3
4.4

Question Number : 116 Question Id : 34212312644 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The world languages are classified primarily using:

A. Hierarchical classification

B. Genealogical classification
C. Typological classification

D. Areal classification

E. Proximal classification

Choose the correct answer from the options given below:

l.A. BandD only
2.B.D and E only
3.B. C and D only

4. C.D and E only

Options :
1.1
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2.2
3.3
4.4

Question Number : 116 Question Id : 34212312644 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fasy HrTei &I i d B i Hee faferai € -

A. AT HD TR
B. GRS TRl
C. TRl ffaro

D. &3 T

E. THITR qIffe 0l

1 feu e fasedl # 9 Fg IR b1 99 BT
1.®dd A, B 3R D

$ad B, D 3R E

3.%dd B, C 3R D

4. HId C, D IRE

Options :
1.1
2.2
3.3
4.4

]

Question Number : 117 Question Id : 34212312645 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Identify the statements that are correct with regard to word-formation process:

A. In reduplication, part of the base or the complete base is copied and attached to the base

B. Saturation 1s a term used for the combining of a predicate of function with its arguments

C. Conversion refers to the derivational process where by an item comes to belong to a new
word-class without the addition of an affix

D. Genitive expresses grammatical relationship by means of derivation

E. Sandhi refers to the phonological modification of grammatical forms which have been
Juxtaposed

Choose the correct answer from the options given below:

1. B and C only

t2

. A and E only
3. D and E only

4. A and C only

Options :
1.1
2.2
3.3
4.4

Question Number : 117 Question Id : 34212312645 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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31 HYl 1 U BT Sl Usg {01 Ufchar & Hele H Tl @ -
A.gqﬁ?ﬁwﬁmwméamwwwsﬁwﬁ%wwﬂﬂmﬁm
EIGI

B.@W%E%WWW%%@@WHﬁﬁWW%WW

EIcI

c. YulRad &1 31 Fgaft ufchar forad gRI $ig e byl Uy &l Sl fo1 U Wsg avf o
M gidi g1

D. YEYHRSD, Al & A14H Y ATHI01D el dhl Hakd Bl g |

E.?@WW&@W%W-WW%ﬁ@mWQ%ﬁT%WW
4 fqu U fasedl # F Fg1 SR &1 99 BT

I.had B 3R C

2. Hdd A IR E

3. Hdd D 3R E

4. had A 3R ¢

Options :
1.1
2.2
3.3
4.4

Question Number : 118 Question Id : 34212312646 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Identify which of the following statements are true. In the context of translating a text Eugene
Nida talks about the following types of ‘equivalence’.

A. Grammatical Equivalence
B. Semantic Equivalence

C. Cultural Equivalence

D. Formal Equivalence

E. Dynamic Equivalence

Choose the correct answer from the options given below:

1. A and B only
2. D and E only
3.B and C only

4. C and D only
Options :
1.1
2.2
3.3
4.4

Question Number : 118 Question Id : 34212312646 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fafaRad o O 9 Syl &1 UgdH Bifolt, Tl 18 @1 3HdIG ®34 & Jeud J g Aal
Fafafad UoR & Gaded ST Ieig Hd |

A. DTS AT

B. 31l gl
& A

D. YIRS FHgeHdT
E. TS GHIA
i feu T 9l # 9 FT SR &1 99 SIS
1. had A 3R B
2. Had D AR E
3.had B AR C

4. ®Had C 3R D
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Options :
1.1
2.2
3.3
4.4

Question Number : 119 Question Id : 34212312647 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Examine the following two sentences:
(a) It seems that Ronnie is a robot
(b) Ronnie seems to be a robot

In relation to (a), sentence (b) is an example of

A. Subject-to-subject raising

B. Object-to-subject raising

C. Transformation

D. Infinitival clausal complement
E. Subject-to-object raising

Choose the correct answer from the options given below:
1. A, C,D only
2. A,D,E only
3.B. Conly

4. A, B, C,Donly
Options :
1.1
2.2
3.3
4.4

Question Number : 119 Question Id : 34212312647 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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(a) It seems that Ronnie is a robot

(b) Ronnie seems to be a robot

(a) & T H, 91 (b) FEIRId H1 3a0 §

A. 3530 U 32T IUTH
B. [4¢T U 3530 IUH
C. TR0

D. gAY TR He4i R
E. 3539 U fa9g ImA

=T fqQ Y fgdhetl H ¥ FoT IR &I 997 DI
1.$hdd A, C AR D
2. HIA A, D 3R E
3. HIAB 3R C
4. Hdd A, B,C 3R D

Options :
1.1
2.2
3.3
4.4

Question Number : 120 Question Id : 34212312648 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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The Task-Based Language Teaching (TBLT) is an approach which is based on:

A. Developing an exhaustive and elaborate svllabus for teaching

B. Use of grammar as a part of teaching in classroom

C. Communicative language Teaching based on discourses

D. Use of tasks as the core unit planning an instruction

E. Explaining linguistic rules in classroom situation to the advance learners

Choose the correct answer from the options given below:

1. A and B only
2. B and E only
3. Cand D only

4. A and C only

Options :
1.1
2.2
3.3
4.4

Question Number : 120 Question Id : 34212312648 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

1 TR HTST FRie07 (& o v ) U1 e g Sl Fafafad or ereid @ -

A. ORYYf 3R [921¢ Uraufdar vl qaR ST

B. [R1&U1 & YN & &Y H AT DT YT BRI

C. HUYUT HTST {217

D. IS 3R 32 &l Gd 3bls & U H SRl &1 Ui
E. HeTd [T d FaH] & are &A1

1 feu U fas ettt # 9 F1 IR &1 99 DI
1. Hdel A 3R B
2. HddA B AR E
3.%dd C AR D
4. HAdA 3R C

Options :
1.1
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2.2
3.3
4.4

Question Number : 121 Question Id : 34212312649 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

As per the Chomsky Hierachy of formal grammars, which of the following are correct.

A. Unrestricted Phrase Structure Grammar (UPSG) — Type 0
B. Context Free Grammar (CFG) — Type 1

C. Context Sensitive Grammar(CSG) — Type 2

D. Regular Grammar (RG) — Type 3

Choose the correct answer from the options given below:
1. A B, Conly
2.A,C,Donly
3.B.C.Donly

4. A, D only
Options :
1.1
2.2
3.3
4.4

Question Number : 121 Question Id : 34212312649 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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D] & TR ATHI YDA & AR Hafdad d e qd g2

A. 3UTETed s T SRl (UPSG) — Type 0
B. UYT U ATHN (CEG) — Type |

C. U IU&f SThRUT (CSG) — Type 2

D. [FaHd SATHIN (RG) — Type 3

i feu T fadetl 7 9 FT SR D1 99 BIfT:
1.HIAA, B3R C
2. Had A, C AR D
3.$ddB. C 3R D
4. Had A 3R D

Options :
1.1
2.2
3.3
4.4

Question Number : 122 Question Id : 34212312650 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Identify which of the following five statements are true: Three early meaningful stages of speech

production are:

A. Physical movement and gestures stage

B. Naming and holophrastic stage

C. Telegraphic stage

D. Morphemic and transformational stage

E. Meaningless non-grammatical construction stage

Choose the correct answer from the options given below:
1. A. B, and C only
2. C, D and E oonly
3. A.Dand E only

4. B, C and D only

Options :
1.1
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2.2

3.3
4.4

Question Number : 122 Question Id : 34212312650 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fFrafafed & ¥ 9 Hy &1 UgaH SIfe -
d1 TG DR b ol HRIHS Tl TRUT3 -

A. IRIRE S9d 3R 37 faag 9=

B. AMH® 3R URavd
C. TIhd &R

D. TG 3R TUIARUIRS R
E. g FTH0d A0 TR

A feu T fashedl § 9§ a1 IR B 994 DIIT:
. Hdd A, B3R C

2. hadd C.D IR E
3. HAdd A, D INE
4. Hdd B, C 3R D

Options :
1.1
2.2
3.3
4.4

Question Number : 123 Question Id : 34212312651 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Which of these statements are/ correct about 'presupposition?

A. Meaning 1s viewed as an attribute of sentences rather than something constructed by the
participants

B. Presupposition and entailment are essentially the same semantic relations

C. Sentences are viewed as the utterances of individuals engaged in a communication act

D. Even an indefinite description gives rise to a presupposition of existence

E. The view expressed in “A’ is essentially pragmatic whereas in “C’ it is essentially semantic

Choose the correct answer from the options given below:

1. A and B only
2. B and C only
3. Aand C only

4. A. Cand E only
Options :
1.1
2.2
3.3
4.4

Question Number : 123 Question Id : 34212312651 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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qau=dl & ey o AyeiRgd 91l ¥ S 9 /1 98l g2

A. 31 B YUl §R1 AT & I=RYI & & H &1 Sl ©, 7 [t 3% gRI $e HHT0
CARIEERSE

B. QAT 3R SETUdl &1 3G =0 U i 3{12f Yee grar gl

c. Tl guyor iafafe # Yoy safdadl & =Rl &l arad JHET SIdl g |

D. Y doi- Hi 3T &1 gda=Id I ST Garg |

E. A* H ad fooan a1 faaR ifFard =9 9 ddd wan faen (dvmfesd) § 9efd <o | ogad
fepar 7 fagr sndf gl

- feu U fasett 7 ¥ @8 IR 1 99 DT
1. %dd A 3R B
2. HadB 3R C
3. HIdA R C
4. HIAA, CARE

Options :
1.1
2.2
3.3
4.4

Question Number : 124 Question Id : 34212312652 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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A reference dictionary includes the following lexical items as headwords:

A. Base form

B. Inflected forms
C. Derived forms
D. Mental lexicon
E. Idiomatic forms

Choose the correct answer from the options given below:
1. A, B. Conly
2.B.C.Donly
3.C,E,Donly

4. A, C.Eonly

Options :
1.1
2.2
3.3
4.4

Question Number : 124 Question Id : 34212312652 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

o Y Yoo Iu H A g g -

A SHYHIREY
B. Ug U

C. FTF =Y
D. HEla¥eR &0

- feu U fasett # ¥ F1 IR &1 99 DI
1.BdA A, B3R C

HdaB, C 3R D

3. HAd C,E3RD

4. HddA, C ARE

Options :
1.1
2.2
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3.3
4.4

Question Number : 125 Question Id : 34212312653 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following statements are TRUE about the various sense relations?

A. In dictionaries, polysemous senses are listed under the same lexical entries while
homonymous senses are given separate entries

B. Rich/ poor' are the examples of gradable antonyms whereas “dead/alive’ are the examples of
complementary pairs

. “The boy saw the man with a telescope’-is an example of lexical ambiguity

. Two sentences are synonymous if they entail each other

. Meronymy is a process used by speakers as part of their practice of referring, metonymy
describes a classification scheme evidenced in the vocabulary

mon

Choose the correct answer from the options given below:

1. A. B and C only

I

.A. D, E only
3. A.Band D only

4. A. D and C only

Options :
1.1
2.2
3.3
4.4

Question Number : 125 Question Id : 34212312653 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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fFAafeRad ST 1 U oF U oy faf 3mem g4l & IR § 9d 2

A. EH I H, IgHUP MR I U of DI Uil H qEias i1 oird ¢, sefd
! SR S yyd Ufdfy UeH &1 Sl B

B. - HHRARIE BT faa el & IaIgI01 8, Sl -Jd/ailfdd I gl & 380 gl

C. “The boy saw the man with telescope’ - g WWWWW%I

D. &I 1 a1 gid € afe d U gk & i gid g

E. TRIATH] U Ul Uichar g o gaar Uad ¢ & I & U H diddl g, HellHH! 2eg-
HSR gRI UHITUI FATIHRUT IHH BT U g |

- feu U fasett 7 ¥ @1 IR &1 99 DI
1. PIA A, B3R C
2. $hadd A, D 3R E
3.Hdd A, B 3R D
4. Pad A, D3R C

Options :
1.1
2.2
3.3
4.4

Question Number : 126 Question Id : 34212312654 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Match the List-T with List-IT

LISTI LISTII
(Concept) (Explanation)
A |Lexical ambiguity | 1. |A possible but non-occunng word in a context
B |Lexical category 1T Multiple meanings of words in sentences
C._|Lexical gap III. | Word level syntactic categories
D. |Lexical paraphrases|IV. | Sentences that have the same meaning due to synonyms

Choose the cerrect answer from the options given below:

1. A-I, B-II, C-III, D-IV

]

. A-IL B-IIIL, C-1, D-IV
3. A-IIT, B-IV, C-1, D-1I

4. A-IV, B-1, C-II, D-III

Options :
1.1
2.2
3.3
4.4

Question Number : 126 Question Id : 34212312654 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Gt 1% 1Y YT 11 B1 e Hifoe

Esil 11
Ty &
A (fed® sFdmddl| L |Ud Ty © gnig W A1eid Weg
B |9 ®ife 1. |yl # 2sal & dg-or
C. |=nfea® i 0. |STeg-%a” ared-fg=ard aif
D. |anfea® 3ragiar | 1v. |gaial & sRo e o ard argd

A fau U fasedl # U Igt 3R &1 994 DIfoIu:

1. A-I, B-II, C-III, D-IV

b2

. A-Il, B-1IT, C-1, D-IV
3. AIIL B-IV, C-1, D-II
4. A-1V, B-1, C-II, D-III
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1.1
2.2
3.3
4.4
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Question Number : 127 Question Id : 34212312655 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match the List-T with List-IT

LISTI LISTII
(Concept) (explanation)
iy Duality of I Linguistic forms are said to lack physical correspondence with the entities in the
"|patterning " |world which thev refer

B. |[Arbitrariness

IL.

The elements of a signal can be analvzed as having definable boundaries with no
gradation or continuity between them

C. |Discreteness

jiis

Language can be used to refer to contexts removed from the immediate situation
of the speaker

D |Displacement

IV

Languages are seen as bemng structurally organised in terms of two abstract
levels

Choose the correct answer from the options given below:

1. A-I, B-II, C-III, D-IV

2. A-1l, B-1II, C-1V, D-1

3. A-ILL B-IV, C-1, D-II

4. A1V, B-1, C-II, D-IIT

Options :
1.1
2.2
3.3
4.4

Question Number : 127 Question Id : 34212312655 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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AT 1S 1Y &I 11 DT e Hifoy

T T T 1

HUoaq EAEE2
A | . YTETE © Ul & o7 @1 s@isdl. fofg d Ry &l 5. 4 i ff vifos darg
BEEGL R EGE RG]

= Uth Yol & o] @1 3 aid (a1 [dl HaY(A I1 Gidd o RHIT B
= L \aa dmreii % w0 # fredifva fva o goar 2|

c |fEfear | m HTOT BT SUGNT 3 g i ol Iy B & o fonan S Yanell & o aaa
' - |arepifae fufa T faaifad feu gl

_ |Hmerart @1 gt o w1 & gy H WadeE w9 i S H S@ |
D. |fqaiRom IV. 2

AT U U fadhedl § U It 3R &1 994 DIoIU:

1. A-I, B-II, C-III, D-IV

2. A-1l, B-III, C-1V, D-1

3. A-IIL B-IV. C-1, D-II

4. A-1V, B-1, C-1I, D-III

Options :
1.1
2.2
3.3
4.4

Question Number : 128 Question Id : 34212312656 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Match the List-T with List-IT

LISTI
(Concept)

LISTII
(Explanation)

Both form and meaning are borrowed or assimilated with some adaptation to the

] . phonological system of the new language

B.|Loan blends | II. |The meaning is borrowed but only part of the form

C. |Loan shifis ITT_ | The meamng 15 borrowed and the form 1s native

D. d il ; IV | The morphemes in the borrowed word are translated item by item
Translation

Choose the cerrect answer from the options given below:

1. A-IV, B-11I, C-II, D-I

2. A-IL B-1, C-IV, D-IIT

3. A-L, B-II, CIII, D-IV

4. A-III, B-1V, C-1, D-II

Options :
1.1
2.2
3.3
4.4

Question Number : 128 Question Id : 34212312656 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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AT 1S 1Y &I 11 DT e Hifoy

T 1 TR 11
HUT __=men
Yoy — ¢ q&%ﬁm&%mmﬁﬁmﬁﬁﬂwaﬁ?ﬂﬁﬁﬁ
B. |3FTd Y e | 1L |31 &1 SM1GH Il €, Ul &4 o dhael HI
c. Wﬁﬁa{ﬁ IIL. |32} 3T gl & 3R ¥4 ¢Ig gl &
D. |HFd ¥dlg | IV. |31eH U 7 Wee H UGl &1 3Fdle ®HHaR fhdl &idl &
A< ST U [qehedl § 9§ W1 IR &1 99 DI

1. A-IV, B-11I, C-II, D-I

I-2

. A-II, B-1, C-IV, D-III

3. A-L, B-II, C-IIL, D-1V

4. A-III, B-1V, C-1, D-II

Options :
1.1
2.2
3.3
4.4

Question Number : 129 Question Id : 34212312657 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Match the List-T with List-IT

LISTI LISTII
(Concepts) {(Definition)

) : A set of substitutional relationships a linguistic unit has with other units in a specific
Synchronic L

context

Paradigmatic | II. |[Languages are studied from the point of view of their historical development

A
B.
C_|Syntagmatic [III. |Languages are studies at a theoretical pomnt in time
D.

Diachronic IV | The relationships between constituents in a construction at the linear level

Choose the correct answer from the options given below:

1. A-I, B-II, C-III, D-IV

I

.A-II, B-I, C-IV, D-IIT
3. A-III, B-1, C-1V, D-I1

4. A-II, B-1IV, C-1I1, D-I

Options :
1.1
2.2
3.3
4.4

Question Number : 129 Question Id : 34212312657 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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AT 1S 1Y &I 11 DT e Hifsy

el 1 11
UH TSl S@Ts 1 30 SPisdl § Ue [P doy § ufaein—rae g
A |Uholidd L 51 0% G

B (e 1L |YTeTef &7 39 Uldeniad [9emE & T 4 s G s gl

c. |fTaasara® | IL |Heis &1 99g & 9Sia® e 9 oo fear s el
D. (PrOHH® IV, |80 TR W U@ 39 H AN & 0 Ty

A f6u U A edl § O Tot 3R &1 I994 HIIT;

1. A-1, B-II, C-III, D-IV

I

. A-II, B-1, C-IV, D-III
3. A-III, B-1, C-1IV, D-II

4. A-II. B-IV, C-11I1, D-I
Options :
1.1
2.2
3.3
4.4

Question Number : 130 Question Id : 34212312658 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Match the List-T with List-IT

LISTI LISTII
{Concepts) (Explanation)
B [Bafice I Refers to an orientation to language where shared assumptions and background

" |knowledge are not pre supposed by participants

& |stan I Non-standard, colloquial varities of the spoken language and traditionally carries
- | " Inegative association of “educatedness’ and ‘coarseness’

C Elaborated I Refers to an orientation to language where participants assume a greater shared

"|Code knowledge, cultural and social history
D Restricted v Set of informal and colloquial words and phrases used within particular social groups
"|Code " |land set that are not part of the mainstream language

Choose the cerrect answer from the options given below:
1. A-II. B-III, C-TV, D-I
2. A-IL B-IV, C-1, D-III
3. A-IIL, B-IV, C-II, D-I

4. A-IV, B-III, C-1, D-II

Options :
1.1
2.2
3.3
4.4

Question Number : 130 Question Id : 34212312658 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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AT 1S 1Y &I 11 DT e Hifoy

Geill T 1

HUQg RS

HIY] & 39 HHf=arg ol Hefdd ®ial & Sel UfdHIF[! gr1 9

A [HRTRDT | L R Sk Ug e 1 31 O e T ST

HiRGd I & SUTHIG dicdrd & YoR SR IRARS 0 Y
HRIETAT 7R - HURSHAAr & ABRIAD Hlgad] bl dg- Bl gl

_ Y9I & 30 A= & Yafild @val & 9el ufdyrf te geor U Ie,
C |l | 1L qiepiae AR GHfed Sfae™ @ #fred $d &

. | fafar g 9ge! & YTk vgad sFuaiie iR Siaarad Seal 1Y
D. [HWifFdPls | IV UGa=! & S R i b H3d YR B HIFT! &l 4R =g o

A U U f[dsedl # U Tot 3R &1 994 HIIU;

1. A-II, B-III, C-1IV, D-1

B. | #{OHTET 1.

2. A-IL B-1V, C-1, D-IIT
3. A-IIT, B-IV, C-II, D-1

4. A-IV, B-111, C-1, D-II

Options :
1.1
2.2
3.3
4.4

Question Number : 131 Question Id : 34212312659 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Match the List-T with List-IT

LISTI LISTII
(Concepts) (Explanation)
Refers to sounds produced by a relatively complex structure and marked by relatively
A |Lateral I | : d -
high frequencies and intensity
; Refers to any sound where the air escapes around one or both sides of a closure made
B. [Contimuant . =
in the mouth
C_ |Strident II1. |Refers to sounds produced to allow an audible escape of air through the nose
D. |Nasal IV |Refers to sounds which are produced with a complete closure of the local tract

Choose the cerrect answer from the options given below:

1. A-IV, B-1II, C-1, D-II

2. A-IL B-IV, C-1, D-TIT

3. A-III, B-1, C-1IV, D-I1

4. A-II. B-III, C-IV, D-I

Options :
1.1
2.2
3.3
4.4

Question Number : 131 Question Id : 34212312659 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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AT 1S 1Y &I 11 DT e Hifsy

TqE 1 T I
I
D. |TgE IV. |39 @i &l a1 0y & d HaR ¥ 3H Bidl 5, o Yaiid &l o
i fqu T fadet! # 9 |El SR D1 99 SifoT:

1. A-IV, B-11I, C-I, D-II

2. A-II, B-IV, C-1, D-IIT

3. Al B-1, C-IV, D-1I

4. A-II, B-III, C-IV, D-1

Options :
1.1
2.2
3.3
4.4

Question Number : 132 Question Id : 34212312660 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Match the List-T with List-IT

LISTI LISTII
Explanation Concept
A A large tvpe of universal in which the existence of one grammatical pattern I Absolute
* |1in a given language implies the existence of another one " luniversal
B A universal that holds for a majority of cases and is statisticallv significant 1 Word order
" | but does not hold for every case without exception " |universal
C A term applied to the arrangements both of words within phrases and of m Implicational
" | phrases within clauses " Juniversal
D A property found 1n every human language; having vowels and consonants, v Statistical
| marking reference and predication " |universal

Choose the correct answer from the options given below:
1. A-I, B-III, C-IV, D-1II
2. A-IV. B-1IL. C-1, D-II
3. A-IL B-1, C-IV, D-III

4. A-III, B-1V, C-11, D-I

Options :
1.1
2.2
3.3
4.4

Question Number : 132 Question Id : 34212312660 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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AT 1S 1Y &I 11 DT e Hifoy

g1 T I
TE g
GGy &1 Ush UBR [ST9H U Uad HI¥ H Ush ATH01H HTEREH1 61 ,
AR ey 1 |FRUs 9EdH
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g e o1 | e gradm
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1. A-1, B-III, C-IV, D-II
2. A-IV, B-III, C-1, D-II
3. AL B-1, C-IV, D-IIT

4. A-IIT, B-1V, C-1I1, D-1I

Options :
1.1
2.2
3.3
4.4

Question Number : 133 Question Id : 34212312661 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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LIST1 LISTII
{(Concept) (Explanation)
A Complementary I Refers to the substitutability of one round for another in a given
" |distribution © |environment with no consequent change in the word's meaning
b Refers to a way of handling the problem of neutralisation of phonemes in
B. |Free vanation II. : ik . :
certain positions in a word
| Avchipbionesnis m R_Ef_ers to the discovery procedures used in phonology to determine
which sounds belong to the same class
B Wil pa v Refers to the mutual exclusiveness of a pair of sounds in certain phonetic

ENVIrONment

Choose the cerrect answer from the options given below:

1. A-I, B-II, C-III, D-IV

]

-A-IIL B-1IV, C-I1, D-1
3. A-IV, B-1, C-II, D-III

4. A-II. B-III, C-IV, D-I

Options :
1.1
2.2
3.3
4.4

Question Number : 133 Question Id : 34212312661 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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AT 1S 1Y &I 11 DT e Hifsy
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1. A-I, B-II, C-III, D-IV

[

. A-IIT, B-IV, C-I1, D-I

3. A-IV, B-I, C-II, D-IIT

4. A-II, B-1II, C-1IV, D-1

Options :
1.1
2.2
3.3
4.4

Question Number : 134 Question Id : 34212312662 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Match the List-T with List-IT

LISTI LISTII
{Concept) (Explanation)

I Loss of language ability as a consequence of brain damage, which may result from

£ | Aoy head injury or stroke

Difficulty with reading processes as a result of brain damage or development

B. | Aphasia IL. e e

C.[Dwvslexia II1. | Word substitutions during reading usually as a result of language impairment

v Speech disorder, often as a result of brain damage, resulting in difficulty with finding

|| Petmemins words and naming things

Choose the correct answer from the options given below:
1. A-II. B-1V, C-1. D-III
2. A-IV. B-1, C-1II, D-III
3. A-II B-IV, C-I1, D-I

4. A, B-11, C-1IV, D-1
Options :
1.1
2.2
3.3
4.4

Question Number : 134 Question Id : 34212312662 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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| AT &ffd & weRawy arey e TRUTHRGE Wkl @ o 3R
D. GEHROR | IV- | eiofl o e & T gl 2

A f6U U f[ddedl #4981 SR 1 999 BII;

1. A-IL, B-1V, C-1, D-IIT

f-2

. A-IV, B-1, C-II, D-III
3. A-III, B-1V, C-II, D-1

4. A-III, B-I1, C-1IV, D-1

Options :
1.1
2.2
3.3
4.4

Question Number : 135 Question Id : 34212312663 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Match the List-T with List-IT

LISTI LISTII
(Concept) {(Explanation)
A |Interfix I. |An affix that occurs inside the base
B. |Inflix II. |A discontinuous affix that occurs on both sides of the base
C. [Duptifix I A semantically empty affix that occurs between the two members of a N+N
compound

. ; . |An element attached to the base that consists of both copied segments and fixed

D.|Circumflix [TV i

Choose the cerrect answer from the options given below:

1. A-IIT, B-1, C-IV, D-II

2. A-IV, B-III, C-1, D-II

3. A-Il, B-IIIL, C-IV, D-1

4. A-I1, B-IV, G-I, D-IIT

Options :
1.1
2.2
3.3
4.4

Question Number : 135 Question Id : 34212312663 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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S GRfham) | 1 |ve uag St snuR & iR g
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C e 11 | ue Yearid: ad g &l U NN Gl S ol Uedi b g sidl &

| 3meR ¥ A U e il Srgafdd R Fd g @S] 9 S gl
D. |9y (Ghafpa) | IV 3

i feu TTU fadh et § 9 T8T IR B I8 DIfIT:
I. AL B-I, C-IV, DI
2. A1V, B C-I, D-II
3. AL B-IIL C-IV, D1

4. A-I1, B-1IV, C-1, D-III
Options :
1.1
2.2
3.3
4.4

Question Number : 136 Question Id : 34212312664 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Match the List-T with List-IT

I1IST1 LISTII
(Grice's Maxims) (Explanation)
i Maxim of I Do not misinform vour audience; say what you believe to be true and do not sav
| Quantity " | something yvou do not believe to be true
B Maxim of I Communicate your message i1 an orderly and clear manner without ambiguity
| Quality " | and unnecessary worldliness
C Mazxim of I (Give no more or less information to vour audience than is needed for a full
" | relevance | understanding of the intended message
Maxim of . . . .
D. e IV | Do not sav something that is not relevant to the conversation

Choose the correct answer from the options given below:
1. A-IV. B-III. C-1, D-II
2. A-IIL B-1, C-IV, D-1I
3. AL B-IIL, C-IV, D-I

4. A-II, B-IV, C-1, D-III

Options :
1.1
2.2
3.3
4.4

Question Number : 136 Question Id : 34212312664 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 167/190



8/31/24, 10:22 PM g28.digialm.com/CAE/viewHtmIPDFAction.action
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1. A-IV, B-III, C-I, D-IT

2. A-IIT, B-1, C-1IV, D-I1

3. A-II, B-III, C-IV, D-I

4. A-11, B-IV, C-1, D-III

Options :
1.1
2.2
3.3
4.4

Question Number : 137 Question Id : 34212312665 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Match the List-T with List-IT
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LIST1I LISTII
(Concept) (Explanation)
A |Base modification L Existence of words in which a morphological meaning corresponds to no
overt form
B. Cumula_n'-;e II. |Morphemes that have form but no meaning
EXPIESs1On

C. |Zero expression II1. |An affix expresses two different morphological meanings simultaneously
D. |Emptv morph IV, |Process of change within the root or stem of a form

Choose the cerrect answer from the options given below:

1. A-IIT, B-IV, C-II, D-I
2. A-IL B-1, C-IV, D-IIT
3. A-IV, B-1, C-II, D-III

4. A-IV, B-III, C-1, D-II

Options :
1.1
2.2
3.3
4.4

Question Number : 137 Question Id : 34212312665 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action

169/190



8/31/24, 10:22 PM

g28.digialm.com/CAE/viewHtmIPDFAction.action

AT 1S 1Y &I 11 DT e Hifsy
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1. A-III, B-1V, C-II, D-I
2. A-1I, B-1, C-1V, D-III
3. A-IV, B-1, C-II, D-III

4. A-IV, B-III, C-1, D-II

Options :
1.1
2.2
3.3
4.4

Question Number : 138 Question Id : 34212312666 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Match the List-T with List-IT

LIST I (Concept) (Repil:sSeTntE:[tiun)
A |Mood 1. |Completeness, habituality, duration, continuousness, progressiveness
B. |Aspect II. |Male, female, sexless, living
C. |Case III. [Factuality, possibility, uncertainty, likelihood
D. |Gender IV, |Actor, possession, naming, location, motion towards

Choose the cerrect answer from the options given below:

1. A-IIT, B-1, C-IV, D-II

2. AL, B-II, CIII, D-IV

3.AL B-IV, C-I, D-IIT

4. A-IV, B-III, C-II, D-1

Options :
1.1
2.2
3.3
4.4

Question Number : 138 Question Id : 34212312666 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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AT 1S 1Y &I 11 DT e Hifsy

A |GRI (mood) 1. | quidr, rifadd, Safel, Sraddr, wiiaeicd
B. | U8 (aspect) I | =R, #rar, fiTRigd, Sifda
C. |[PR® 111 | JORddl, T, SfAfgddr, gesgaa
D. |fef v, | T, gy, A, fufa, Rfée nfa
A feu U fad el § 9§ Fg! 3R &l 994 DIl

1. A-III, B-1, C-IV, D-II
2. A-L, B-1I, C-IIL, D-1V
3. AL B-IV, C-1, D-TIT

4. A-IV, B-111, C-1I, D-1

Options :
1.1
2.2
3.3
4.4

Question Number : 139 Question Id : 34212312667 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Match the List-T with List-IT

LIST1I LISTII
(Concept) (Explanation)
%, Additive I A Conversational Implicature that removes modifies, or replaces the semantic
"Implicature content of a sentence uttered
B Audience I A conversational implicature that builds pragmatic content inti the semantic
" |lmplicature " |content of a sentence uttered
C Subtractive I A conversational implicature or speaker meaning that is intended by a speaker
" |lmplicature " |but not recognized by the addressee

D. |Utterer Implicature | V.

A conversational or speaker meaning that is recognized by the addressee but not
intended by the speaker

Choose the cerrect answer from the options given below:

1. A-IIT, B-IV, C-II, D-I

]

-A-IV, B-1, C-1II, D-II

3. A-IV, B-III, C-1, D-II

4. A-I1, B-IV, G-I, D-IIT

Options :
1.1
2.2
3.3
4.4

Question Number : 139 Question Id : 34212312667 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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AT 1S 1Y &I 11 DT e Hifsy
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D. mﬁ%ﬁfﬁ V. %Dﬁaﬁwéﬁrﬁﬁﬁﬁiﬂ!

A fau U fadedl § U It 3 &1 99 DIfoIs:

1. A-IIL, B-1IV, C-11, D-1

2. A-IV, B-1, C-IIT, D-IT
3. A-IV, B-III, C-1, D-IT

4. A-11, B-IV, C-1, D-III

Options :
1.1
2.2
3.3
4.4

Question Number : 140 Question Id : 34212312668 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Match the List-T with List-IT

LIST1 LISTII
(Grammatical theories/ models) (Authors)
A |GE Theory [. |Bresnan]
B. |Lexical Functional Grammar II. |Chomsky N
C. |Astadhyayi III. |Gazdar G
D. |Generalized Phrase Structure Grammar| IV, |Panm

Choose the cerrect answer from the options given below:

1. A-I, B-II, C-III, D-IV
2. A-IL B-1, C-IV, D-IIT
3. A-III, B-11, C-1, D-IV

4. A-I, B-II, C-IV, D-III

Options :
1.1
2.2
3.3
4.4

Question Number : 140 Question Id : 34212312668 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

AT 1D 1Y G 11 D1 THAH Pifore

A |50 o g I |[d8 S
B |9req-Hdr s 1L |dHEh T
C. | arFTeam I |7Teie ol
D. |9Higd UGe+ H3g-1 Ardeur| IV. | Tifor

A fau U fased] # U Igt 3R &1 99 DIfoTu:

1. A-L B-II C-IIL, D-IV
2. A-IL B-I, C-IV, D-II
3. AIL B-II, C-I, DIV

4. A-1, B-11, C-IV, D-IIT

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 175/190



8/31/24, 10:22 PM g28.digialm.com/CAE/viewHtmIPDFAction.action
Options :

1.1

2.2

3.3

4.4

Sub-Section Number : 2
Sub-Section Id : 342123496
Question Shuffling Allowed : No

Question Id : 34212312669 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (141 to 145)
Question Label : Comprehension
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Read the following passage and answer the questions:

The study of the linguistic properties of the written language has lagged somewhat behind the
study of the sounds of speech. Nonetheless, the efforts of typographers, graphic designers.
linguists, psychologists, and others have introduced a number of useful distinctions and terms,
some of which are designed to avoid the ambiguity inherent in the apparently simple term.
writing. This ambiguity arises in several ways: Writing can refer to either a process or a result:
while we are actively engaged in the process, we are said to be “writing; and when we have
finished. the product (our composition or text) is also called (a piece of) “writing’. Writing can
refer to either an everyday or a professional activity. All literate people, by definition, can write:
but only a tiny minority are writers (i.e. authors).

Written language, when contrasted with speech, refers to any visual manifestation of spoken
language-whether handwritten, printed, typed, or electronically generated-and this is how the
term is used in the present book. In this sense private letters., bus timetables, text messages, books
are all examples of *written text’. On the other hand. when people say ‘I can’t read your writing’
they are referring only to handwritten (not printed or typed) text.

The writing system

Most obviously, writing is way of communicating which uses a system of visual marks made on
some kind of surface. It is one kind of graphic expression (other kinds include drawing, musical
notation, and mathematical formulae). In an alphabetic system, such as is found in English, the
graphic marks represent. with varying regularity. individual speech sounds (or phonemes, p.248).

The standardized writing system of a language is known as its orthography. English orthography
consists of the set of letters (the alphabet) and their variant forms (e.g. Capitals, lower-case), the
spelling system, and the set of punctuation marks. The linguistic properties of the orthographic
system can be studied from two points of view, analogous to the distinction used in spoken
language between phonetics and phonology (p.248).

Graphics, a term coined on analogy with phonetics is the study of the way human beings make,
transmit, and receive written svmbols. However, unlike phonetics, where a comprehensive
methodology for describing the properties of speech sounds has been developed. there is as vet
no sophisticated graphetic classification, though typographers and printers have developed a
limited terminology to handle the most salient features of letter shapes. Graphologyv. coined on
analogy with phonology, is the study of the linguistic contrasts that writing systems express. In
particular, it recognizes the notion of the grapheme, on analogy with the phoneme- the smallest
unit in the writing system capable of causing a contrast in meaning. For example, because sat and
rat have different meanings, <s> and <r> emerge as different graphemes: on the other hand, the
contrast between sat and sat is not graphic because the graphic difference does not correlate with
a change of meaning. Graphemes are usuvally transcribed in angle brackets. Punctuation marks
(such as <. and <?=) are graphemes also, as are such units as <2=, <&, and <S$=.

Sub questions

Question Number : 141 Question Id : 34212312670 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 177/190



8/31/24, 10:22 PM g28.digialm.com/CAE/viewHtmIPDFAction.action

Graphemes are usuvally transcribed in:

. Round brackets

(]

. Angle brackets
3. Square brackets

4. Brace brackets
Options :
1.1
2.2
3.3
4.4

Question Number : 142 Question Id : 34212312671 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

‘Orthography’ refers to the.

1. System of designing characters in a language

f-2

. Process of correcting errors made in spelling
3. Process of rendering speech into writing

4. Standardized writing system of a language

Options :
1.1
2.2
3.3
4.4

Question Number : 143 Question Id : 34212312672 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The term “Writing” is an ambiguous expression because:

1. It refers to different senses based on contexts of use

f-2

. It refers to one of the major forms of a language
3. All authors are writers by nature

4. Every natural language has a writing system
Options :
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1.1
2.2
3.3
4.4

Question Number : 144 Question Id : 34212312673 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

*Graphetics’ is an analogical creation of.

1. Grapheme

]

. Graphology
3. Phonetics

4. Orthography

Options :
1.1
2.2
3.3
4.4

Question Number : 145 Question Id : 34212312674 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The smallest unit in the writing capable of causing a contrast in meaning is called:

1. Character

]

. Alphabet
3. Phoneme

4. Grapheme

Options :
1.1
2.2
3.3
4.4

Question Id : 34212312669 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (141 to 145)
Question Label : Comprehension
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28 G O UarT 601 7191 g1 29 = 1, (Sl UA, 99 90g-9RUi, UIsy ewr 3R Y,
Y4 ffad ur&r & 3argvl g1 quRl 3R, ofd @Rl dgd g, “H MUl od Hgl Ug Ubdr. d
gXIed (A 19 gfed a1 ¢fda) urey & FiGy R I8 8

oRa ggfar

AfErddH U U, W9 UdIG &1 U AI9H © ol {4l UbR &1 Yde W §-Y U =29 gl

U Ugld Bl UGN &l o | 98 Uh UHR B diRdd HHeAlad (3 USRI | e,

W%W@W%}%Iwmmﬁ o & 2 o o8 ot 2.

%@g SIREREEI] qddl & 914 gY9-gYp didsial &1 uelRid &vd ¢ (3R
248) 1

Tdh YINT &I FADIDd o GGid &l g @’ & =g H SH1 SIal 1 iU Y oA
31eRT & Y=Y (Ul) 3R 39D TR U (30N 99 &R, Bl UDR), dd-l g&id
3R foR fagl & T=ag 9 Ffifd 81l § 1 TS o’ U=a & YT Ture! &1 &l <Pl 9
HW@@W%WWﬁEﬁﬁW 3R WG & T fq3g Iugi &
e (U] 248

Uhfeay: (cRafds) @iHfagr U ewd § [Aifd Wee 39 m1eam &1 siwrgd g Sl 79
feiRad udien! & Fmion, Fu9ur 3R uifi & ol &1 g1 gidifes, @ fa- & 99, Sigl
I SIE!  ToTeE & feR0 & foru e e faft fishd &1 7 8, 315 o ceayie
BN 3t dh IucTs g1 B, I URU el SR Gl - 3eRIP Al & THd Toredf
&1 YYTeH & U Us HITHd ucrac [dbd &1 g

YIRS (CIRIAATE), WHARTA ¥ 9ewd I [AiHd wee, oad, aiadl gR1 2Ai4ead
YR avHf &1 3004 g1 99N ¥U U, 98 ofeq & o1 & 9esy & AUFH &l 6.
WHY & WY grekadr ¥ - a{ﬁﬁﬁmwﬁwﬁﬁ@ﬁmaﬁﬂa@a@sﬁ%
mﬁsatmmt%ﬁ-ﬁﬂﬁ%m - 3R <r ﬁ-ﬁa@ﬁﬁmmmgﬁi
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Yeuws: | T8l o1 afaul & rHrgd: $ivig ®iget # fawifed fear sar g1 fam fog
(O [ <= 3R <2-) W ARGO § U P <2, <& 3R <5- T IPIRAI B |

Sub questions

Question Number : 141 Question Id : 34212312670 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

dfadl &l aEradr 9 ¥ fawied e S g -
1. T HIgH
2. HIUIT HIvh

3. 9 BIgD
4. Y DIVD

Options :
1.1
2.2
3.3
4.4

Question Number : 142 Question Id : 34212312671 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

1. T HINT H 31eRT & 3Hidhed- Bl Ggid
2. G- H P11 Ffel o T=ie o widhar

3. 919 B! o H UUidd B &l Ulchdn

4. U YN &I HHDIHd g gSfd

Options :
1.1
2.2
3.3
4.4

Question Number : 143 Question Id : 34212312672 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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R[S Wag U Wirurdas ifteaiad ¢ wife:
1. g U417 & T-eH TR 31T H 3=l o iy drai gl
g Udh UV & o ©ul § 4 U $l [y HRa1 3|
3. Gl THISR U d 4 0@ g
4. Ud UIPidd YN § Uh dd Ugid gl

Options :
1.1
2.2
3.3
4.4

f-2

Question Number : 144 Question Id : 34212312673 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

SRafa U UefRyd AT 6 -
| dfgat &1

. dRgHfaTH B

ESCACRICE|
4. Fseig Dl

Options :

1.1

2.2

3.3
4.4

b

L

Question Number : 145 Question Id : 34212312674 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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3 H 9 &I Id - H e, o Ugld &1 9d Il 5hTe, hgadl g -
1. qUiaR

quf

3. @A

4. dfgH

Options :

1.1

2.2

3.3

4.4
Sub-Section Number : 3

Sub-Section Id : 342123497
Question Shuffling Allowed : No

g

Question Id : 34212312675 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (146 to 150)
Question Label : Comprehension

Read the following passage and answer the questions:

“Cultural translation™ may be understood as a process in which there is no source text and usually
no fixed target text. The focus is cultural processes rather than products. The prime cause of
cultural translation is the movement of people (subject) rather than the movement of texts
(objects).

The concepts associated with cultural translation can complement other paradigms by drawing
attention to the intermediary position of the translator, the cultural hybridity that can characterize
that position, the cross-cultural movements that form the places where translators work, and the
problematic nature of the cultural borders crossed by all translations.

There have been several prior calls for wider forms of Translation Studies. and for close attention
to the cultural effects of translation.

Cultural translation can draw on several wide notions of translation, particularly as developed in
social anthropology, where the task of the ethnographer is to describe the foreign culture actor-
network theory (““translation sociology™). where the interactions that form networks are seen as
translation. and sociologist that study communication between groups in complex, fragmented
socleties, particularly those shaped by migration.

The paradigm thus helps us to think about a globalizing world in which it is no longer possible to
assume that their “source™ and “target” sides are stable and separate.
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Sub questions

Question Number : 146 Question Id : 34212312676 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Cultural Translation is viewed as-

[

. A process incoporating definite source text and a definite target text

[

. A process that leads to understanding of the issue of migration of the communities due to
various geopolitical conditions

s

. A produet not as a process

4. A process rather than products

Options :
1.1
2.2
3.3
4.4

Question Number : 147 Question Id : 34212312677 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which among the following is NOT a source of cultural translation

1. Social anthropology

f-2

. Translation sociology
3. Sociologies

4. Linguistic area

Options :
1.1
2.2
3.3
4.4

Question Number : 148 Question Id : 34212312678 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Which among the following is the cause of cultural translation?

l. Movement of the text in different cultural contexts

[

. Movement of the people in cultural zone
3. Movement of the people in intercultural areas

4. Rigidity of the community refusing to move from their native place

Options :
1.1
2.2
3.3
4.4

Question Number : 149 Question Id : 34212312679 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What are the concepts associated with cultural translation that can be helpful to other paradigms?

l. Undermining the immediate context of the translator

t2

. The cross-cultural movements that constitute the workplaces of the translators

L

. The problematic nature of cultural borders that nullify the importance of any translation
work

4. Translator's own bias towards the source language

Options :
1.1
2.2
3.3
4.4

Question Number : 150 Question Id : 34212312680 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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The paradigm in cultural translation helps us to

. Think about the Euro-centric world
2. Think about the global world

3. Think about globalizing world in which the distribution between “source and target’
language is insignificant

4. Think about globalizing world in which the “source and target” languages are assumed
unstable and inseparable

Options :
1.1
2.2
3.3
4.4

Question Id : 34212312675 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (146 to 150)
Question Label : Comprehension

fraferRed e o FraurgEe ufeT ik SHH Haftd 4l & IR difeg -

“Hiplddh HdIE” &I Ul Uihal & =0 T YU Sl Yabdl g, Forgd SIS Fid UId 3R SHdR
R [4d d&g U8 81 gidl g1 9RGId® Uidharsdi i auid, Idiel IR 9d gidl ¢ | Gipidd
S{HAIG D1 UHE HRU AN (fdeal) o1 Hde ¢ A [ urdl (@&l &1l IRpiad are
Yldg AR 3dlGe &l T YN 39 T & fa=Ivar ddH arell Sk idd S,
& BT B AU HH ale YPid-UR Yaad 3R T 3dral gRT UR &3
ﬁﬂ?ﬁ@ﬁﬂﬁaﬁﬂwm%uﬁwmﬁaaﬂmWﬁwm
Hhdl gl
3dTe HHT & AGDH Ul & [l TUT 3faTe &b Gikpidd THEl IR Y24 =0 4 @ ¢ &
foTU ugd 3/ R HiTl &1 713 8|

YR idd 3dre § 3dle & 4D D 3= Teid U ol Ybd g. [92¥ =0 I 39 =0
o ST 9SS JiagE § [9HRid [T 1 g, S8l &1 $r [qUe! epid &1 9uiF &A1 G,
TR Hedad G (3dIe GHeRIRd) S8l Yaral 4 fHfEd g ard Jedd 3idre 91+ 9id 8
mwwmmwmwmﬁﬁﬂﬁﬁ%WﬁWaﬂ
S0 |

Ug TUIES 34 UBR 9% BT YHSHAIDHRU 3 & aR # gH Fi- H Hag &l § Sed 2@ 78
B BT THT T8 § [ |1 3R ~dea~ 98l FRR § 3R 9UFH-9ue ¢
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Sub questions

Question Number : 146 Question Id : 34212312676 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

i idd 3Hdre 9HEI Sl © -
1. U ufchar forad [AfEd 9id ure 2R FfEd 9iq urs nid gid gl

2. Ut Tifehan forges Areqd 9 A YIorifas uRiifdal & SR 99erl & Yagd &
e I GHS Sl 3

3. TP 3G b Ufchd1 & =0 H|
4. 3G & SolTg Ul |

Options :
1.1
2.2
3.3
4.4

Question Number : 147 Question Id : 34212312677 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

FHfRad H U B1H-91 YRS 3d1E BT UId 981 6 -
1. 13- giRepide Seuf o ure e
2. AT &l Hikpidd & (1) o Helei
3. AT 1 S=R-Yih P &= o e
4. G gRT 30 G Y A g &l foig

Options :
1.1
2.2
3.3
4.4

Question Number : 148 Question Id : 34212312678 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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FafaRad ¥ 9 o H-91 G idd 341G BT HRU g2
1. TSI Jfaam
2. 3dTG YHISTRIR
3. HTSIIR

4. MINT & (Linguistic Area)

Options :
1.1
2.2
3.3
4.4

Question Number : 149 Question Id : 34212312679 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

g@%mﬁaw&éﬁhﬁmmﬁ%ﬁ 3 Furdierdi & fold UgrI® gl Jdbdll

1. fdTad & dlablicid g4 & Agd &I HH B
2. G dh-UR HaeH foy dIed] & Hrd-Rd &I (HHi0 glar g |

X %ﬁ@ﬁhﬁﬁﬂwuﬁﬁmﬁ&wméﬁ%m DI Hgdgi- &l
|
4. 914 YN & Yl 3FdIad DI 301 JaUg |
?p;ions:
2.2

3.3
4.4

Question Number : 150 Question Id : 34212312680 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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YRPIIP 2dIe B TUIGe! g8 Agg &l § -
L. TRY-bi<d 9y & IR & T Hl
2. YHSellhd fay & sR H g HI

3. ﬁ%g}ﬁmﬂgﬁﬂwmﬁ%aﬁﬁ@aﬁﬁmﬁ%@aﬂ 3R <dez veT § 1e Hgw@yul
EEIEGIE

4. 9y &I yHSdiHd A & G- 1 TR J F59H "I 3R <ded YN SRR 3R
YA I St Al Srdl g
Options :
1.1
2.2
3.3
4.4
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